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Sub-Section Id : 927759352

Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9277597499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the letter-cluster series given below:

CTXR, JAEY, QGRE, ULPJ, YPTN
Options :

1. ¥ JAEY

2. ¥ QGRE

3. % ULPJ

4. ®* YPTN



Question Number : 1 Question Id : 9277597499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad S1aR-THg Y&l H TTeld U JTd Hifeie:

CTXR, JAEY, QGRE, ULPJ, YPTN
Options :

1. % JAEY

2. ¥ QGRE

3. % ULPJ

4. % YPTN

Question Number : 2 Question Id : 9277597500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter-cluster series given below:

DMT7F, JS13L, PY19R, VE25X, ?
Options :

1. ¥ BR31D

2. % BK31D

3. % BR30D

4. % BK30D

Question Number : 2 Question Id : 9277597500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad s1eR-THg SRael ¥ I Ug JTd SIfoid:

DMT7F, JS13L, PY19R, VE25X, ?
Options :

1. % BR31D

2. % BK31D




3. # BR30D
4. * BK30D

Question Number : 3 Question Id : 9277597501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

CAB:FEG::RUN:?
Options :

1. ¥ UYS

2. % UYT

3. ®* UWS

4. % UVS

Question Number : 3 Question Id : 9277597501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vea o fau e fasedt & 9 Tefda sieri &1 gfu|
CAB:FEG::RUN:?

Options :

1. ¥ UYS

2. % UYT

3. ® UWS
4. = UVS

Question Number : 4 Question Id : 9277597502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related word from the given alternatives.

White : Colour :: Shirt : ?



Options :

1. ¥ Garment
2. % Stich

3. % Button
4. % Collar

Question Number : 4 Question Id : 9277597502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vea o fu 7Y fasedl  Sefid Weg &1 iUl
W:Q"‘T::Qﬁ;:?

Options :
1. ¢ URYH
2. % Ryars
3. % dcH
4. % DIR

Question Number : 5 Question Id : 9277597503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If C =9 and DOG = 78 then how will you code BAT?
Options :

1. * 68

2. % 64

3.¥ 69

4. % 62

Question Number : 5 Question Id : 9277597503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfg ¢ = 9 R DOG = 78 &, T 31T BAT & fhq UPR T B



Options :
1. ® 68
2. % 64
3.¥ 69
4. % 62

Question Number : 6 Question Id : 9277597504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B is twice as old as A but twice younger than F. C is half the age of A but is twice older than D. Who is the second oldest?
Options :

1.¥ B

2. % F

3.%D

4. % C

Question Number : 6 Question Id : 9277597504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B, A ¥ GN[AT 93T § Qb F W QT BICT 81 C ,A BT 3T T 31T § Afdhd D T T 93T 81 G-I T 53T P g2
Options :

1.¥B

2. % F

3. %D

4. % C

Question Number : 7 Question Id : 9277597505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

110 soldiers are standing in a queue from front to end. A's position from the front is 56 . What is A's position from the end of the given queue?
Options :

1. ¥ 55



2. % 54
3. % 56

4. % Cannot be determined

Question Number : 7 Question Id : 9277597505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

110 P A Y AP 3/ b Th HAR A TS g | JMH T A BT RIF 56 1 81 ST T HAR & 3id T A BT I T 82
Options :

1.¥ 55490

2. % 5479

3. % 56d]

4. % FyiRa 7T fpar o qar

Question Number : 8 Question Id : 9277597506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two statements are followed by two conclusions numbered I and II. You have to consider these statements to be true, even if they seem to be at
variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:
All artists are intelligent.
All intelligent are positive.

Conclusions:
(I) All positive are artists.
(IT) All artists are positive.

Options :

1. % If only I follow

2. % If only II follows

3. ® If both I and II follow

4. % Ifneither I nor II follows



Question Number : 8 Question Id : 9277597506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefead vs 1 & sy AT U & e a1e &l sy 19 11 faU U & 3! 37 YT 1 G HIFHT &, Wl 81 4 FdaTd el 9 et uefia
gid 81 | fau U Frem el & 9 31 91 e AU 70 o &7 difdhs ©0 § S8R0 dRal 5 |

HhY:
T FABR FSAF B
Tt gfam™ THRES B

B

(1) G GHRTAS HATBR 3|

(1) 9 FATHR IHRTHSD B |

Options :

1. % $Had FT5HY [ 3FIERU Sl §

2. ¢ Had (BN 11 SR Hal §

3. % G (FIShY [ T 11 SFJAR0T 6’ &

4. % 3 freend 177 € Fspy 11 SR BT §

Question Number : 9 Question Id : 9277597507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three statements are followed by two conclusions numbered I and II. You have to consider these statements to be true, even if they seem to be at
variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:

No fans are cooler.

All speakers are fan.
Some speakers are clock.

Conclusions:
(I) Some fans are speaker.
(IT) Some clocks are fan.

Options :
1. #* If only I follow



2. % If only II follows
3. ¥ If both I and II follow
4. * If neither I nor II follows

Question Number : 9 Question Id : 9277597507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferad uy & & sy feu U g e a1e 1 s 1 9 11 fAT 17U § 3ueh! 39 Syl o I AT §, Wl 81 d Fagd au 9 fire uddta
gid gt fau e feersf & § &1 a1 feepdf 3T 78 2= &1 difches 0 I ORI BT 7 |

HhY:

PIg U¥T R Tal ¢

Tt wfier ta R

RS IEROEIE]

fm:

() T T8 Tfax g

(1) TS TSI G4 g |

Options :

1. % Had (sHY [ 3IER0 HRT §

2. % Had HY 11 SR Hdl &

3. ¢ QI (FIShY [ T 11 SFJaR0T 6’ ©
4. % 3 freend 17 € sy 11 SR BT ®

Question Number : 10 Question Id : 9277597508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three statements are followed by three conclusions numbered I, II and III. You have to consider these statements to be true, even if they seem to
be at variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:

Some fishes are crocodile.
All crocodiles are snakes.
All snakes are tortoise.



Conclusions:

(I) Some fishes are snakes.

(IT) Some snakes are fishes.
(IIT) All crocodiles are tortoise.

Options :

1. # If only I follow

2. % If only II follows

3. # If only I and II follow
4. % All follows

Question Number : 10 Question Id : 9277597508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad uy & a9 sy T e g e a1e &= s 1,1 g 111 fRT 7TU § 3! 39 SU=l &) I AT 8, Hal 81 3 gd3Td a9 fiw
Tdid 81d g1 | fau e fsem e & § o1 91 st iU T8 HuH &1 difthds U I 38R0 Rl 5|

HY:

$3 A3 RIS & |

Tt RIS iU g |

Tt giu HFeM g |

fsem:

(I) TS ABferai AU g |

(I1) $B GJ A3 B

(111 9t TTRTS HFSM R |
Options :

1. # $Had [5HY [ 3IERU Hdl §
2. % Had fSHY 11 ST BT &
3. % G fIShY 1 T 11 SFJIR0T 6’ ©
4.« Tt SRV Hd §

Question Number : 11 Question Id : 9277597509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the next term in the series.

341,213,121, 59, 21, ?
Options :

1.* 9

2.9¥ 1

3. % 18

4. % 14

Question Number : 11 Question Id : 9277597509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
QT BT ST UG 1l B |

341,213,121, 59, 21,7
Options :

1.*9

2.¥ 1

3. % 18

4. % 14

Question Number : 12 Question Id : 9277597510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following expression will be definitely false if the expression Q > S <P >R =T is definitely true?
Options :

1. % S<P

2.% S=P

3. % P>T

4.¥S>Q



Question Number : 12 Question Id : 9277597510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 3ifieafad Q > s <P >R = T a0 3 9 B, @l FafoRad & 9 o143 siftreafad ffga u @ e gifl
Options :

. % S<P

2. % S=P

3.%P>T

4.¥S>Q

Question Number : 13 Question Id : 9277597511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which two sings should be interchanged in the following equation to make it correct?

24+8-5x5+3=13
Options :

l. * +and -

2. % xand+

3. % +and x

4, % < and +

Question Number : 13 Question Id : 9277597511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frgferiRad Feienur 1 el B & foru fobeT Gl forgl i 31U Srgedl ST =g e

24+8-5x5+3=13
Options :

1. % + 3R
2. ¢ x 3R+
3. % + 3Rx
4. % - 3R+



Question Number : 14 Question Id : 9277597512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, triangle represents doctors, circle represents senior, pentagon represents consultant, rectangle represents surgeon and
square represents MBBS degree.

What does ’15 and 14’ represents?

(5]

q

» 8
15 9

3 4 100 11
12 -
14
Options :

1. ¥ Doctors who are senior, consultant and have MBBS degree
2. % Doctors who are senior, surgeon and have MBBS degree
3. # Doctors who are surgeon and have MBBS degree but not senior.

4. # Doctors who are consultant and have MBBS degree but not senior

Question Number : 14 Question Id : 9277597512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad sma &, Ay siael &1 ufafAfia &l g, 30 aRkE &1 Ul BT 5, U0 TaedR B WafFiid SRl §, 3ad Joi
o1 Ufaffia o1 8§ 3R ol uHeteey f&ift &1 ufaffia war g

15 3R 14° fgeT ufaffa g2




G
E.I
3 8
15%J o
3 -+ 100 11
12 13
14
Options :

1. # Sigex o INF §, TP & iR S oy tHeieiey ot 3t §

2. ¢ SlgeR ol alg €, Toi © 3R e g wadidivg o1 fsi

3. % SaeX ol goid g 3R R urg THdidity o) feuht ® afer aikg et 81

4. % Zlaex Sl IATEHR g 3R e urg tAdiety & &3t § afeed oy 78t g

Question Number : 15 Question Id : 9277597513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, triangle represents engineer, circle represents government sector, hexagon represents high package, rectangle represents
employed and square represents private sector.

What does ’4C’ represents?

7
4563 B
A
2 D E
; F
R

Options :



1. ¥ Engineer who are employed in government sector but not have high package
2. # Engineer who are employed in private sector but not have high package
3. % Engineer who are employed in government sector and have high package

4. ¥ Engineer who are employed in private sector and have high package

Question Number : 15 Question Id : 9277597513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad s 8, By SR &1 ufafiftid & a1 8, 90 WeR) &8 &1 ufaffiicd BRd 8, Yoy 3o dow &1 ufaffia #rdr e,
3TId PRI BT Ul ol g 3R a7 fAeit &7 &1 ufaffia Har gl

4¢’ frge ufaffia g2

: 7
4568 B
A
% p N &
: F
\/H G g
R
Options :

1. % SONfRR off TRPR! &7 § BRI § Afh 3= Ubol el &

2. % ZOAR il ol &5 § S1iRd § difdh 31 Uy S Ul a1 §
3. % SONFRR S IRBRT &F T HRRA 8 3R o I 3 Ul §
4. ¢ MR o Foft &3 & iR § 3R o9 Uy 3=3 Uobwl &

Question Number : 16 Question Id : 9277597514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure that will replace the question mark (?) in the following figure series.



N

=~d

Options :

2.¥

3.

4.




Question Number : 16 Question Id : 9277597514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 3T &1 g9 DX S FEfeiRad spfa @ § uy fag (2) & ufawifd s |

N\ :

Options :

2.¥

3. %




Question Number : 17 Question Id : 9277597515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one in which the Question Figure is hidden/embedded.

Options :




Question Number : 17 Question Id : 9277597515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu 7TQ faeent & 9, I 1P o1 99 B 57 uy 3nepfa srafifea / fodt g2

Options :



Question Number : 18 Question Id : 9277597516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one which is the mirror image of given Question Figure.



= ///1/

F

e

Options :

3.¢



Question Number : 18 Question Id : 9277597516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fau U faewedl 7§ ¥, I 3M1epfa &1 799 B3 SN fou U uy 3o o1 gdur ufafews 31

77 &
Frrrfrry

/111

o

i a"',.-'r,-’-

/
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Options :




3.¢

)\
\
\

Question Number : 19 Question Id : 9277597517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the number of hexagon in the given figure.

=



Options :
1. ® 7
2.¥6
3.% 8
4. %5

Question Number : 19 Question Id : 9277597517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 1S 3B H Wy B =T T1d B

Options :
1. %7
2.9 6
3. % 8
4. % 5

Question Number : 20 Question Id : 9277597518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one that will complete the question figure.
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§\ 2
2
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Question Number : 20 Question Id : 9277597518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U faedl O @ 39 fabed &1 AU S Uy 3HThid & R dR|

AN

*~J

A\

N

Options :

2




2.¥

/i

/

7/

Y

4. %

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

General Awareness
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927759272
0
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0
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General Awareness

Section Id : 927759298
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759353
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9277597519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Sattriya dance’ was developed in the sattras or monasteries of which of the following states?
Options :

1. ¥ Assam

2. % Uttarakhand

3. % Bihar

4. % Rajasthan

Question Number : 21 Question Id : 9277597519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g T FofaRed o 9 oy g & o= a1 98t & faw Ry foar man am
Options :

1. ¢ 3{H

2. ® IS

3. % f9gR

4. % IR



Question Number : 22 Question Id : 9277597520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Taj Mahotsav is celebrated in which of the following states in India?
Options :

1. ¥ Uttar Pradesh

2. # Gujarat

3. # Rajasthan

4. ¥ Madhya Pradesh

Question Number : 22 Question Id : 9277597520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tl Heled HRd | FRgferfad 7 3 food g & 7rm S 82
Options :

1. ¥ SR UK

2. % TORId

3. ® YNSRI

4. % YUY

Question Number : 23 Question Id : 9277597521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Ahmednagar fort was built by whom among the following?
Options :

1. % Adil Shahi I

2. % Murtaza Nizam Ahmed I

3. # Hussain Shah

4. ¥ Malik Ahmad Nizam Shah I



Question Number : 23 Question Id : 9277597521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3gHeTR &1 forar Fafefad § ¥ fge grRT s9arar T 91
Options :

1. % Jfed Aet 1

2. % ol (oI 3fgHg |

3. % G MG
4. ¢ Hfde 3gHe Ao T8 1

Question Number : 24 Question Id : 9277597522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Secondary sector of an economy is also known as which of the following?
Options :

1. # Manufacturing Sector

2. % Goods Sector

3. # Service Sector

4. ¥ Industrial Sector

Question Number : 24 Question Id : 9277597522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SfHaRT & fgciiasd & &! afaRad o ¥ fog 9 & +ff e S g2
Options :

1. % fafmior &

2. % T[SY Yo

3. % Yar&d

4. 3D &

Question Number : 25 Question Id : 9277597523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The Finance-Minister in the Budget 2021 has increased the budget outlay for health and well-being by how much percent?
Options :

1. # 100 percent

2. # 125 percent

3. ¥ 137 percent

4. % 148 percent

Question Number : 25 Question Id : 9277597523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gofe 2021 H fa w5t 7 e 3R S & o aeie uRena # fara ufawd &t 3fg &1 82
Options :

1. # 100 Ufa=rd

2. % 125 yfd=d

3. ¥ 137 Ufd=id

4. % 148 Ufcr=rd

Question Number : 26 Question Id : 9277597524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following elements is a metal?
Options :

1. # Sulphur

2. # Jodine

3. ¥ Mercury

4. % Carbon

Question Number : 26 Question Id : 9277597524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFrafaRad o 9 &F 1 d@ o1g 52
Options :

1. % e

2. % 3ISH

3. ¥ URT T

4. % PHIa

Question Number : 27 Question Id : 9277597525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ability of a medium to refract light is expressed in terms of which of the following?
Options :

1. % Refractive Index

2. ¢ Optical Density

3. # Mass Density

4. % Speed of Light in the medium

Question Number : 27 Question Id : 9277597525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forall A1 &1 UhT=T B1 SUafd & o1 &l Fafiad & 9§ frdd g & ogad &t ST g2
Options :

1. % 3Uqdd aDIH

2. ¢ 3ifPhd I

3. % HY1d

4. % HIHH H FbT ! Tl

Question Number : 28 Question Id : 9277597526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is known as the solid crust or the hard top layer of the Earth?



Options :

1. ¥ Lithosphere
2. # Biosphere
3. % Atmosphere
4. ¥ Hydrosphere

Question Number : 28 Question Id : 9277597526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied o 9 ford oI s a1 g2dl &1 HER HUL IR & U B ST 51l g2
Options :

1. ¥ JaHsSd

2. % SaHed

3. % gqRgHSA

4. % SHSA

Question Number : 29 Question Id : 9277597527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The outermost range of the Himalayas is known as:
Options :

1. % Karakoram Range

2. % Kailash Range

3. # Zaskar Range

4. ¥ Shiwaliks

Question Number : 29 Question Id : 9277597527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ferTeT ot ged T1est 9uf e §:

Options :



1. ® HRIGRA IS
2. % HAR I
3. % SRR o
4. ¢ Rrarfeis

Question Number : 30 Question Id : 9277597528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following raised the slogan, “Freedom is my birth right and I shall have it!”?
Options :

1. # Bipin Chandra Pal

2. ¥ Bal Gangadhar Tilak

3. # Lala Lajpat Rai

4. % Bhagat Singh

Question Number : 30 Question Id : 9277597528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiaa o 9 forem ART foan, adar i1 sHRTg SifieR g 3R & 38 AR TgTm 2
Options :

1. % fqfo g ure

2. ¢ o1 TR foeiep

3. % Tl oSy d T

4. % Wid g

Question Number : 31 Question Id : 9277597529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mahatma Gandhi established the Natal Congress to fight against-
Options :

1. % Englishmen in India



2. * The Dutch in South Africa
3. # Racial discrimination

4. % Industrialists

Question Number : 31 Question Id : 9277597529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HETH el 7 fohdes RIaT® de & ot e BRI & RITg-1 &1 A
Options :

1. % YRdH U

2. % TI&UT 31T H T

3. ¢ TEIG HeHTd

4. % FENURA

Question Number : 32 Question Id : 9277597530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following movies won the Academy Award for Best Picture in 20217
Options :

1. ¥ Nomadland

2. # Parasite

3. # Joker

4. % Marriage Story

Question Number : 32 Question Id : 9277597530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 frg fiher 3 2021 & G498 e &1 SidpTeH! RIGR Siar
Options :

1. ¢ THSds

2. % IRMEC




3. % SIH
4. % AR @R

Question Number : 33 Question Id : 9277597531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following personalites won the Nobel prize in Economics in 2020?
Options :

1. ¥ Robert B. Wilson

2. % Michael Kremer

3. % Abhijit Banerjee

4. % Esther Duflo

Question Number : 33 Question Id : 9277597531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ O forg afada 3 2020 # iiRRd H Fl9d RIGR Siar
Options :

1. ¢ e o, faee

2. % HIZHA HHR

3. % SISl el

4, % TER RN

Question Number : 34 Question Id : 9277597532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following won the Formula One British Grand Prix, 2021?
Options :

1. # Valentino Rossi

2. % Charles Leclerc

3. % Daniel Ricciardo



4. ¥ Lewis Hamilton

Question Number : 34 Question Id : 9277597532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforRad & § foem widar o fafe=r 7 i, 2021 S
Options :

1. % qoifer AR

2. % I AFRR

3. % shga Rfsarst

4. ¢ T34 gieed

Question Number : 35 Question Id : 9277597533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of the satellite being developed jointly by NASA and ISRO to detect movements of the planet’s surface?
Options :

1. % OSIRIS-Rex

2. ¥ NISAR

3. % Artemis-I

4. % Starlink

Question Number : 35 Question Id : 9277597533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T8 &1 Idg B! I DT Il T o Torg 1T 3R ZIRY gRT Tgad T ¥ A Rid fort 11 38 SUUE &1 A1 &1 82
Options :

1. % ARYRY-IRSTH

2. ¢ AR

3. % ST

4. % WRIe®




Question Number : 36 Question Id : 9277597534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following took over as Deputy Chief of Naval Staff from Vice Admiral G Ashok Kumar?
Options :

1. ¥ Satish Namdeo Ghormade

2. % Karambir Singh

3. % M.A. Hampiholi

4. ¥ R. B. Pandit

Question Number : 36 Question Id : 9277597534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 frem Iy TeftRd ot S/RNe HHR I FIHT €I & 3U UHE & U H TGHR T faram
Options :

1. ¢ G AH¢d URAS

2. % HIHAR Rig

3. % . T gHfigiial

4. % IR o Uf&d

Question Number : 37 Question Id : 9277597535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the temporary chairman of the Constituent Assembly’s inaugural session?
Options :

1. % Shri C. Rajagopalachari

2. % Dr. Sachchidananda Sinha

3. # Shri Sarat Chandra Bose

4. # Dr. B.R. Ambedkar

Question Number : 37 Question Id : 9277597535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafafad & § o Ifaum 9y & Ieured 99 & SRR 3remer A9
Options :

1. % oft It ISrmuTaey

2. ¢ 3. AfgHg RigT

3. % fisRd dg 99

4. % BT §1.3R. FHSH

Question Number : 38 Question Id : 9277597536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Preamble of the Constitution of India was amended by the virtue of which of the following amendments?
Options :

1. ¥ 42nd Amendment

2. # 44th Amendment

3. ¥ 51st Amendment

4. % 73rd Amendment

Question Number : 38 Question Id : 9277597536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd & FIGYT BT TRt D FHferiad & 4 e Y=o & YR R IR fobam mar 4r?
Options :

1. ¢ 4201 Y=

2. % 4491 MY

3. % 5191 GRMe

4. % 7390 GRMYA

Question Number : 39 Question Id : 9277597537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Major Dhyan Chand Award for Lifetime Achievement in Sports and Games was instituted in which year?
Options :

1. % 1988

2. % 1996

3. % 1990

4. % 2002

Question Number : 39 Question Id : 9277597537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tdl H SiaRa eaTde REGR forg a8 wiTfid fasar mar o
Options :

1. % 1988

2. % 1996

3. % 1990

4. % 2002

Question Number : 40 Question Id : 9277597538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following countries hosted 2012 summer Olympics?
Options :

1. ¥ United Kingdom

2. # Brazil

3. % France

4. % Russia

Question Number : 40 Question Id : 9277597538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad 7 T g 3w 7 2012 & HHBTAN 3Nt Bt Aoram! B2



Options :
1. ¢ g13CS fhired

2. % §itd
3. % Y
4, % =Y
Arithmetic Ability
Group Number : 3
Group Id : 927759273
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Arithmetic Ability
Section Id : 927759299
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759354

Question Shuffling Allowed : Yes



Question Number : 41 Question Id : 9277597539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

) a®  b? c?
If a +b + ¢ =0 then what 15the1.rahleofb—+——l——?
C

ca ab
Options :
1. % -3
2.%0
3.% 1
4,943

Question Number : 41 Question Id : 9277597539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

uﬁa+b+c=ﬂ%3’rs—i+§+§wmwﬁ?

Options :
1. % -3
2.%0
3.% 1
4,943

Question Number : 42 Question Id : 9277597540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The least number which when divided by 44 leaves a remainder 38, when divided by 55 leaves the remainder 49 and when divided by 64 leaves
the remainder 58 is:

Options :
1. ¥ 3514
2. % 3756
3. % 3246



4. % 3576

Question Number : 42 Question Id : 9277597540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 oY DI T f5 44 T TIUTRTT 1 IR A9Bd 38 TTAT ], 55 T TAHITT B TR VB 49 F9d1 § 3R 64 T fTaHiioid s R
YTHA 58 ST 8

Options :
1. ¥ 3514
2. % 3756
3. % 3246
4. % 3576

Question Number : 43 Question Id : 9277597541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What should come in place of the question mark (?) in the following question?

4/0.16x0.000064
0.0032

X 100 =?

Options :
1. % 0.1

2. % 1

3. % 10

4.4 100

Question Number : 43 Question Id : 9277597541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foferfad oy o us forg (2) & R R 1 3T A1



4/0.16x0.000064
0.0032

X 100 =7

Options :
1. * 0.1
2. %1
3.% 10
4.+ 100

Question Number : 44 Question Id : 9277597542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What should come in place of the question mark (?) in the following question?

Question Number : 44 Question Id : 9277597542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fgferfad oy o us foeg (2) & RIF R 1 3T A1l

Question Number : 45 Question Id : 9277597543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are 19 students in a class with the average marks 62.5. The average of first 10 students is 57.5 and that of last 10 students is 69.5. Find the

Oth

marks of 10" student.

Options :
1. ® 62.5
2.9 825
3. % 875
4. % 91

Question Number : 45 Question Id : 9277597543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



U HeH 19 faendf §, S 3id 8idb 62.5 81 UyH 10 faenfial & i 3ie 57.5 aut sifaw 10 faenfial & siad si 69.5 81 c9d
faemeff &1 3icp J1d BT

Options :
1. % 62.5
2.9 825
3. % 875
4, % 9]

Question Number : 46 Question Id : 9277597544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a person spends 50 percent of his saving, his total expenditure would be 50 percent more than his saving. What percent of income does he
save?

Options :

1. % 75 percent
2. ¥ 80 percent
3. #® 60 percent
4. % 70 percent

Question Number : 46 Question Id : 9277597544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

@ﬁgw%&ﬁwmsomméww%ﬁww $d T, ITD! F9d U 50 Ufa=rd 31fe g1 Seem | 98 ford-1 ufa=rd sma
ddldl g?
Options :

1. % 75 percent
2. % 80 percent
3. # 60 percent
4. % 70 percent

Question Number : 47 Question Id : 9277597545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

If 80 percent of A is 13 more than 90 percent of B and the ratio of 40 percent of A to the 60 percent of B is 10 : 9, then what is the value of A?-
B2?

Options :

1. % 1200

2. % 1600

3. % 1800

4. % 1500

Question Number : 47 Question Id : 9277597545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g A BT 80 TA=Id, B & 90 TR ¥ 13 3HTIF § 3R A P 40 UTI=RId BT B & 60 U= F U 10 : 9 8, AT A2 - B2 T HH TN 2
Options :

1. % 1200

2. % 1600

3. % 1800

4. % 1500

Question Number : 48 Question Id : 9277597546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There is a loss of 8 percent by selling an item for Rs.69. What is the percentage loss or profit if it is sold for Rs.78?
Options :

1. * No profit no loss

2. ¥ 4 percent profit

3. % 4 percent loss

4. % 40 percent profit

Question Number : 48 Question Id : 9277597546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



69 Y T Ueh a9 ! I WR 8 Ufa=rd &1 g1 gl 31 A 39 78 T § o1 91T < Ufa=rd mH a1 g1 om g
Options :

1. # No profit no loss

2. ¥ 4 percent profit

3. % 4 percent loss

4. # 40 percent profit

Question Number : 49 Question Id : 9277597547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person gets a profit of 20 percent by selling an article at certain price. If he sells it on double of the cost price, then what will be percentage
profit on old selling price?

Options :
| % 40 percent

66> percent
2. 3

3 % 100 percent

', =
“ 120 percent

Question Number : 49 Question Id : 9277597547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forft aq 1 T FfEd Hed R S=M T U safad oY 20 Ufa=rd 1 o SiaT 81 afe 98 39 %0 Yo P SN o IR STl 8, O /A fasha
T TR Uf=rd oy 1 g
Options :

| % 40 percent




66> percent
2. 3

3 % 100 percent

%
“ 120 percent

Question Number : 50 Question Id : 9277597548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of the present ages of Ram and his father is 4: 8. The father's age at the time of Ram's birth was 36 years. Find the Ram and his father's
present age.

Options :

1. ¥ 36 and 72 yrs.
2. % 42 and 80 yrs.
3. % 36 and 75 yrs.
4. % 40 and 69 yrs.

Question Number : 50 Question Id : 9277597548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gﬁ?ﬂ%ﬁmaﬁaﬁﬂﬁa{rﬁwaﬂqﬁ&ﬁlm%uw%wq 3T T BT 3Mg 36 T T | I 3R I a1 1 gdq= g A1
|

Options :

1. ¥ 36 3R 72 T

2. % 42 3R 80 Y

3. % 36 3R 75 a9

4. % 40 3R 69 T




Question Number : 51 Question Id : 9277597549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of hens to goats in farm A is 5 : 4 and that in farm B it is 5 : 7. What could be the ratio of the total hens to the total goats in farms A and
B together?

Options :
l.%1:2
2.% 3:2
3.0 : 11
4. % 7:11

Question Number : 51 Question Id : 9277597549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BTH A T gAY &1 Sl T SFUI 5 : 4 5 3R B B H I8 30U 5 : 781 B A 3R B # fidiax $o giifdl &1 o soRal ¥ srumd
T 8 Fhdl 572

Options :

l.%1:2

2.%3:2

3.90: 11

4. % 7:11

Question Number : 52 Question Id : 9277597550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ramya lent a certain sum of money to Seema at 4% simple interest and the interest earned after 8 years is Rs 3400 less than the amount lent.
How much sum did Ramya lend to Seema?

Options :

1. * Rs.3050
2. % Rs.6100
3. #* Rs.8200
4. ¥ Rs.5000



Question Number : 52 Question Id : 9277597550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R < AT B U AT 4RI 4 Ufard e & ol e} IR YR < 3R 8 9 a1 3ifSid ST, IYUR < TS 4RI T 3400 0T HH
UTed BT § | RT3 AT B fhat emRIRT SUR o

Options :

1. % Rs.3050
2. % Rs.6100
3. % Rs.8200
4. ¥ Rs.5000

Question Number : 53 Question Id : 9277597551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A train muning at a speed of 108 km/hr crosses a pole in 4 seconds less than the

1
time it requires to cross a bridge crfg of its length running at the same speed.

What is the length of the train?
Options :

1. # 562 meter

2. # 480 meter

3. % 600 meter

4. #® 710 meter

Question Number : 53 Question Id : 9277597551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Teh {eENST 108 FRe/Eer & IFAR ° Ioldl g {eEal 6l JIdT oFars
*%m@%gﬂaﬁwaﬂﬁﬁaﬁwmﬁmmﬁ4m
FH THT H Tg U G4 H 9 ST ol IeENST H ddrs Far ghie?

Options :

1. # 562 meter
2. % 480 meter
3. % 600 meter
4. #® 710 meter

Question Number : 54 Question Id : 9277597552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man goes from home to his office by a cab at a speed of 25 km/hr and returns walking at a speed of Skm/hr. The total time taken in the journey
is 6 hrs. Find the distance between his home and office.

Options :

1. ¥ 25km
2. % 26 km
3. % 27 km
4. % 28 km

Question Number : 54 Question Id : 9277597552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH Afad 25 [/ 3t 71fd ¥ U6 & GRT R ¥ U HETE Sdl 8 3R 5 fhel/der &t fd T Ud aad: auy Si1dl g | 39! I i
¥ foran o A THY 6 °C B 1 39D R SR BT & & B gl J1d Do

Options :

1. ¥ 25 km
2. % 26 km
3. % 27 km




4. % 28 km

Question Number : 55 Question Id : 9277597553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 person can complete a work in 40 days. They started the work and after 'x' days 5 person left the work. If the whole work was completed in 50
days, find x.

Options :
1. * 10
2. % 15
3. % 25
4.+ 20

Question Number : 55 Question Id : 9277597553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 SfeRT Teb TH Y 40 a7 7 R R Gebal B 1 IR B IR= fopa 3R x fait & 1q 5 cafad 3 & oY fan afe orf so o § o=
B 71, ol x [ BifeT|

Options :

1. * 10

2. % 15

3. % 25

4.4 20

Question Number : 56 Question Id : 9277597554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 boys and 8 girls can do a certain work in the same time as taken by 2 boys and 10 girls. If 5 boys can complete the same work in 12 days, how
long would 4 girls take to complete the same work?

Options :
1. # 24 days
2. ¥ 30 days



3. % 36 days
4. % 28 days

Question Number : 56 Question Id : 9277597554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 ASD 3R 8 ASfohdl T MiYd o1 1 2 T IR 10 TSN gRT T T T7a H IR Ihdl © 1 G 5 TSb 3 BRI Bl 12 A H g ax
ard &, @ 4 ASIHaT IUT BT B G B3 F a1 g At

Options :

1. # 24 days
2. ¥ 30 days
3. % 36 days
4. % 28 days

Question Number : 57 Question Id : 9277597555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The area of the rectangular field is twice the area of the square field and the perimeter of the square field is 60 meters. If the length of the
rectangular field is 12.5 percent more than the breadth of the rectangular field, then find the perimeter of the rectangular field.

Options :

1. #* 60 meter
2. ¥ 85 meter
3. % 90 meter

4. % 120 meter

Question Number : 57 Question Id : 9277597555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS SMTAAIHR HET BT 8, T IBR AGH & 86T BT QI ¢ AR ITBR AH B IR 60 He 71 fe SMadTpr A B
TS, STAAIBR HeH &I AsTs U 12.5 U= $HfH ¢ df SAdIeR HaM &) URfY J1d Hiforg|

Options :
1. ® 60 meter




2. % 85 meter
3. # 90 meter

4. % 120 meter

Question Number : 58 Question Id : 9277597556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The volume of a conical tent is 4620 m> and its base area is 1386 m? . The height of the tent is:
Options :

. % 11m

2.% 10m

3.% 12m

4. % 14m

Question Number : 58 Question Id : 9277597556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T UPTHR TG BT T 4620 T HicR § 3R TTHT SMUR &FHA 1386 T U 8| TE DI S5 & -
Options :

. % 1l m

2.% 10m

3. % 12m

4. % 14m

Question Number : 59 Question Id : 9277597557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following table shows the marked price (in Rs.) and discount percent for five different products.



Product Marked Price Discount percent
A 730 12
B 900 15
= 1020 30
D 1200 23
E 460 20

If product B is sold at 53 percent profit and product D is sold at 80 percent profit, then what is the sum of cost prices of B and D?
Options :

1. #* Rs.1200

2. % Rs.1150

3. ¥ Rs.1000

4. % Rs.800

Question Number : 59 Question Id : 9277597557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg TferepT Ut SrelT-3rerTT avqan & for sifehd Hed (3T ) 3R ge ufawrd axfdt 31

g | Hiea AEa gferera ge
A 750 12
B 900 15
i 1020 30
D 1200 23
E 160 20

g ITE B DI 53 TR ATH TR 901 O11dl § 3R TG D B 80 Ufa=Id Y IR o1 ST 8, <1 B 3R D & ANT Hed BT AN T 62

Options :

1. ¥ Rs.1200
2. % Rs.1150
3. ¥ Rs.1000
4. * Rs.800



Question Number : 60 Question Id : 9277597558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Vishal distributed toffees and pastries to his friends on the occasion of his birthday. Information about the number of toffees received and number
of pastries received by some of his friends are given in the line graph.

30

24

20 2 18 /\

25

15 —
10 12
BI\_;/’/
5
{} T T T T 1
Rohan Shubham Saket Sushant Rishabh

—4—Total toffees received ={li—-Total Pastries received

Total toffees received by Rohan, Shubham, Saket, Sushant, and Rishabh together is 17.8 percent of total toffees distributed by Vishal. Find the
total number of toffees distributed by Vishal.

Options :
1. # 600
2. ¥ 500
3. % 400
4. % 540

Question Number : 60 Question Id : 9277597558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 600

2. v 500

3. % 400

4. % 540
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Question Number : 61 Question Id : 9277597559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a part of the sentence may contain an error. Identify the part that contains the error and select it as your answer. If the
sentence is free from error, select 'No error'.

India has overtaken the U.S. to providing at least one dose of vaccine to its citizens.
Options :

1. * India has overtaken

2. ¥ the U.S. to providing at least

3. # one dose of vaccine to its citizens.



4. % No error

Question Number : 61 Question Id : 9277597559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a part of the sentence may contain an error. Identify the part that contains the error and select it as your answer. If the
sentence is free from error, select 'No error'.

India has overtaken the U.S. to providing at least one dose of vaccine to its citizens.
Options :

1. * India has overtaken

2. % the U.S. to providing at least

3. # one dose of vaccine to its citizens.

4. ® No error

Question Number : 62 Question Id : 9277597560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a part of the sentence may contain an error. Identify the part that contains the error and select it as your answer. If the
sentence is free from error, select 'No error'.

Those founded violating the warnings were threatened with stern action.
Options :

1. ¥ Those founded violating

2. # the warnings were threatened

3. % with stern action.

4. % No error

Question Number : 62 Question Id : 9277597560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a part of the sentence may contain an error. Identify the part that contains the error and select it as your answer. If the
sentence is free from error, select 'No error'.



Those founded violating the warnings were threatened with stern action.
Options :

1. ¥ Those founded violating

2. # the warnings were threatened

3. # with stern action.

4. % No error

Question Number : 63 Question Id : 9277597561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’.

Thailand has the fork since the latter half of the 19th century.
Options :

1. # had

2. % has had

3. * has having

4. % No improvement

Question Number : 63 Question Id : 9277597561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’.

Thailand has the fork since the latter half of the 19th century.
Options :

1. # had

2. % has had

3. # has having

4. ¥ No improvement



Question Number : 64 Question Id : 9277597562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the bracketed part in the given sentence. If no substitution is required in the bracketed part, select
No improvement.

Elena spent a lot of time in the market but ended up buying only (an denim).
Options :

1. ¥ a pair of denims

2. % one denims

3. % No improvement

4. % few denims

Question Number : 64 Question Id : 9277597562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the bracketed part in the given sentence. If no substitution is required in the bracketed part, select
No improvement.

Elena spent a lot of time in the market but ended up buying only (an denim).
Options :

1. ¥ a pair of denims

2. # one denims

3. ¥ No improvement

4. % few denims

Question Number : 65 Question Id : 9277597563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

A survey of retired people that most are independent and enjoying life.
Options :



1. # alienates
2. * weakens
3. # indicates

4. * vyiolates

Question Number : 65 Question Id : 9277597563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

A survey of retired people that most are independent and enjoying life.
Options :

1. # alienates

2. % weakens

3. ¥ indicates

4. % violates

Question Number : 66 Question Id : 9277597564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

All of the events will be open to the public will include talks from experts.
Options :
1. # But
2. # This
3. ¥ And

4. % Hence

Question Number : 66 Question Id : 9277597564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.



All of the events will be open to the public will include talks from experts.
Options :
1. % But
2. # This
3. % And

4. % Hence

Question Number : 67 Question Id : 9277597565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, a sentence is provided with two blanks. Choose the correct combination of words that fit into the corresponding blanks.

Although the offer has after the due date of the tender, it is still being carefully to see if it meets the criteria of the tender
document.

Options :

1. # came, examines
2. % come, examined
3. # coming, examined

4. % came, examine

Question Number : 67 Question Id : 9277597565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, a sentence is provided with two blanks. Choose the correct combination of words that fit into the corresponding blanks.

Although the offer has after the due date of the tender, it is still being carefully to see if it meets the criteria of the tender
document.

Options :

1. # came, examines
2. ¥ come, examined
3. # coming, examined

4. ® came, examine



Question Number : 68 Question Id : 9277597566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, a sentence is provided with two blanks. Choose the correct combination of words that fit into the corresponding blanks.

After using the authorised doses, the agency will the data to monitor the use of the vaccine in order assess the next
quantities to be imported.

Options :

1. # analysing, to
2. % analysed, with
3. # analyses, with

4. ¥ analyse, to

Question Number : 68 Question Id : 9277597566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, a sentence is provided with two blanks. Choose the correct combination of words that fit into the corresponding blanks.

After using the authorised doses, the agency will the data to monitor the use of the vaccine in order assess the next
quantities to be imported.

Options :

1. # analysing, to
2. # analysed, with
3. % analyses, with

4. ¥ analyse, to

Question Number : 69 Question Id : 9277597567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question consists of four statements labelled P, Q, R, and S, which, when logically arranged, form a coherent passage. Choose the option that
represents the most logical order.

A. It may grow stale, may ossify like bone; it may even seem to fade from view.



B. It never does one well to declare a genre dead.
C. But genres tend to regenerate, too.
D. The Western, for example, rides back into town against an explosion of creativity every ten years or so.

Options :

1. % ADCB
2. % ABDC
3. ¥ DCBA
4. ¥ BACD

Question Number : 69 Question Id : 9277597567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question consists of four statements labelled P, Q, R, and S, which, when logically arranged, form a coherent passage. Choose the option that
represents the most logical order.

A. It may grow stale, may ossify like bone; it may even seem to fade from view.

B. It never does one well to declare a genre dead.

C. But genres tend to regenerate, too.

D. The Western, for example, rides back into town against an explosion of creativity every ten years or so.

Options :

1. ¥ ADCB
2. % ABDC
3. % DCBA
4. ¥ BACD

Question Number : 70 Question Id : 9277597568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

SCRAP
Options :
1. % store
2. ¥ reject



3. ® hoard

4. % save

Question Number : 70 Question Id : 9277597568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

SCRAP
Options :
1. # store
2. ¥ reject
3. # hoard

4. % save

Question Number : 71 Question Id : 9277597569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the antonym of the given word.

ILLICIT
Options :

1. ¥ Lawful
2. % Tllegal

3. % Unlawful

4. % Tllegitimate

Question Number : 71 Question Id : 9277597569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the antonym of the given word.

ILLICIT



Options :

1. ¥ Lawful
2. % Tllegal

3. % Unlawful

4. # Tllegitimate

Question Number : 72 Question Id : 9277597570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. ¥ Cortege

2. % Dammage

3. # Milege

4. ®% Plummage

Question Number : 72 Question Id : 9277597570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. ¥ Cortege

2. % Dammage

3. % Milege

4. % Plummage

Question Number : 73 Question Id : 9277597571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. % Defered



2. ®* Decifer
3. ®* Fammished
4. ¥ Glaucoma

Question Number : 73 Question Id : 9277597571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. # Defered

2. # Decifer

3. # Fammished

4. ¥ Glaucoma

Question Number : 74 Question Id : 9277597572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one which best expresses the meaning of the idiom/phrase.

Clouds on the horizon.

Options :

1. # Unpleasant weather.

2. % Trouble ahead.

3. % Unpredictable nature of someone.
4. ¥ Additional expenditure.

Question Number : 74 Question Id : 9277597572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one which best expresses the meaning of the idiom/phrase.

Clouds on the horizon.
Options :



1. # Unpleasant weather.

2. % Trouble ahead.

3. % Unpredictable nature of someone.
4. ¥ Additional expenditure.

Question Number : 75 Question Id : 9277597573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the following group of words.

The inescapable agent of someone's downfall.
Options :

1. # Posthumous

2. # Philistine

3. % Lacklustre

4. ¥ Nemesis

Question Number : 75 Question Id : 9277597573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the following group of words.

The inescapable agent of someone's downfall.
Options :

1. % Posthumous

2. # Philistine

3. % Lacklustre

4. ¥ Nemesis

Sub-Section Number : 2
Sub-Section Id : 927759356
Question Shuffling Allowed : Yes

Question Id : 9277597574 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions



: No
Question Numbers : (76 to 80)
Read the following passage and answer the questions below.

Immanuel Kant was a German philosopher and one of the central Enlightenment thinkers. Kant's comprehensive and systematic works in
epistemology, metaphysics, ethics, and aesthetics have made him one of the most influential figures in modern Western philosophy. In his
doctrine of transcendental idealism, Kant argued that space and time are mere "forms of intuition" which structure all experience, and therefore
that while "things-in-themselves" exist and contribute to experience; they are nonetheless distinct from the objects of experience. Kant wrote the
Critique of Pure Reason, one of his most well-known works. In it, he developed his theory of experience to answer the question of whether
synthetic a priori knowledge is possible, which would in turn make it possible to determine the limits of metaphysical inquiry.

Kant drew a parallel to the Copernican revolution in his proposal that the objects of the senses must conform to our spatial and temporal forms of
intuition, and that we can consequently have a priori cognition of the objects of the senses. Kant believed that reason is also the source of
morality, and that aesthetics arise from a faculty of disinterested judgment. Kant's views continue to have a major influence on contemporary
philosophy, especially the fields of epistemology, ethics, political theory, and post-modern aesthetics. Kant was an exponent of the idea that
perpetual peace could be secured through universal democracy and international cooperation, and that perhaps this could be the culminating stage
of world history.

Kant published other important works on ethics, religion, law, aesthetics, astronomy, and history during his lifetime. These include the Universal
Natural History, the Critique of Practical Reason, the Critique of Judgment, Religion within the Bounds of Bare Reason, and the Metaphysics of
Morals. Beyond his religious views, Kant has also been criticized for the racism presented in some of his lesser-known papers, such as "On the
Use of Teleological Principles in Philosophy" and "On the Different Races of Man". he was a proponent of scientific racism for much of his
career.

Sub questions

Question Number : 76 Question Id : 9277597575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Beyond his religious views, Kant has also been criticized for which of the works or beliefs?
Options :

1. ¥ For racism presented in his works

2. # For criticising God

3. #* For talking about religions in an unfair way

4. # For saying that aesthetics arise from a faculty of disinterested judgment

Question Number : 77 Question Id : 9277597576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What did Kant argue about in his doctrine of transcendental idealism?
Options :

1. # About religion

2. # About God

3. ¥ About space and time

4. % About laws and ethics

Question Number : 78 Question Id : 9277597577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following fields, Kant didn’t publish his works?
Options :

1. # Ethics

2. # Astronomy

3. # Aesthetics

4. ¥ Astrology

Question Number : 79 Question Id : 9277597578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the word ‘exponent’ mean in the given passage?

Options :

1. # Formally reject or disavow a formerly held belief

2. # The denial and rejection of a doctrine or theory

3. ¥ Someone who supports an idea or theory and tries to persuade people of its truth or benefits

4. % Someone who is uncertain or unable to decide about what course to follow

Question Number : 80 Question Id : 9277597579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is NOT correct, according to the given passage?
Options :



1. # Kant supported scientific racism.
2. ¥ Kant believed that morality is the source of attraction.
3. % Kant published his works on ethics, religion, law, and aesthetics.

4. # Kant supported the idea that perpetual peace could be secured.

Question Id : 9277597574 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

Immanuel Kant was a German philosopher and one of the central Enlightenment thinkers. Kant's comprehensive and systematic works in
epistemology, metaphysics, ethics, and aesthetics have made him one of the most influential figures in modern Western philosophy. In his
doctrine of transcendental idealism, Kant argued that space and time are mere "forms of intuition" which structure all experience, and therefore
that while "things-in-themselves" exist and contribute to experience; they are nonetheless distinct from the objects of experience. Kant wrote the
Critique of Pure Reason, one of his most well-known works. In it, he developed his theory of experience to answer the question of whether
synthetic a priori knowledge is possible, which would in turn make it possible to determine the limits of metaphysical inquiry.

Kant drew a parallel to the Copernican revolution in his proposal that the objects of the senses must conform to our spatial and temporal forms of
intuition, and that we can consequently have a priori cognition of the objects of the senses. Kant believed that reason is also the source of
morality, and that aesthetics arise from a faculty of disinterested judgment. Kant's views continue to have a major influence on contemporary
philosophy, especially the fields of epistemology, ethics, political theory, and post-modern aesthetics. Kant was an exponent of the idea that
perpetual peace could be secured through universal democracy and international cooperation, and that perhaps this could be the culminating stage
of world history.

Kant published other important works on ethics, religion, law, aesthetics, astronomy, and history during his lifetime. These include the Universal
Natural History, the Critique of Practical Reason, the Critique of Judgment, Religion within the Bounds of Bare Reason, and the Metaphysics of
Morals. Beyond his religious views, Kant has also been criticized for the racism presented in some of his lesser-known papers, such as "On the
Use of Teleological Principles in Philosophy" and "On the Different Races of Man". he was a proponent of scientific racism for much of his
career.

Sub questions

Question Number : 76 Question Id : 9277597575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Beyond his religious views, Kant has also been criticized for which of the works or beliefs?
Options :

1. ¥ For racism presented in his works



2. % For criticising God
3. # For talking about religions in an unfair way

4. % For saying that aesthetics arise from a faculty of disinterested judgment

Question Number : 77 Question Id : 9277597576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What did Kant argue about in his doctrine of transcendental idealism?
Options :

1. # About religion

2. # About God

3. ¥ About space and time

4. % About laws and ethics

Question Number : 78 Question Id : 9277597577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following fields, Kant didn’t publish his works?
Options :

1. # Ethics

2. # Astronomy

3. # Aesthetics

4. ¥ Astrology

Question Number : 79 Question Id : 9277597578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the word ‘exponent’ mean in the given passage?
Options :

1. # Formally reject or disavow a formerly held belief

2. # The denial and rejection of a doctrine or theory

3. ¥ Someone who supports an idea or theory and tries to persuade people of its truth or benefits



4. % Someone who is uncertain or unable to decide about what course to follow

Question Number : 80 Question Id : 9277597579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT correct, according to the given passage?
Options :

1. # Kant supported scientific racism.

2. ¥ Kant believed that morality is the source of attraction.

3. % Kant published his works on ethics, religion, law, and aesthetics.

4. # Kant supported the idea that perpetual peace could be secured.
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Question Number : 81 Question Id : 9277597580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 9 e eR" s &1 Tet IfY-fasse -1 82
Options :

1. ® YIS + PR

2. ¥ Y. + THR

3. % Y& + PR

4. % Y + THR

Question Number : 81 Question Id : 9277597580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFAfafad o 9 » wIeHR" Wee H1 el Wi-fame $HIF-91 82
Options :

1. % YJ&3 + hRR

2. ¥ YT + THR

3. ® Y& + PR

4, % YIC + CHR

Question Number : 82 Question Id : 9277597581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfRId o O $19-91 T W5 T8l 87
Options :

|, A




2. % gopc
3. % Mifaasd
4, % i

Question Number : 82 Question Id : 9277597581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed & § SH-91 do s 781 87
Options :

1. AT

2. % Hpc

3. % Mfaad

4. % fo

Question Number : 83 Question Id : 9277597582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfoRad # @ o19-11 e RN foham &1 IS8 82
Options :

1. % 3o-1

2. % 3olHl

3. ¢ 3odHl

4. % Io1Ud IS

Question Number : 83 Question Id : 9277597582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrefafed o 3 S1--91 2rsg IRUMe fobar &7 IemeR0r 82
Options :

1. % 361

2. % 3olHl



3. % 334l
4, % 3I&1Td ISMI

Question Number : 84 Question Id : 9277597583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEAfRId & T D19-91 fa=IV0T 2Teg BT IGT6R0I a1 82
Options :

1. % Orfare

2. % Uddig

3. % URomHl

4.« TG

Question Number : 84 Question Id : 9277597583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrefafad & @S- faQivor Sreg o1 3R T8l 37
Options :

1. ® UTf&rh

2. % gda

3. % gRomHl

4. TS

Question Number : 85 Question Id : 9277597584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfafad & 9 /ARy &1 wafgar Wee H1H-91 761 82
Options :

1. ¢ HIh]

2. % fARITH

3. % Uiy



4. ® g

Question Number : 85 Question Id : 9277597584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frfefed & § AR o1 yaiaar Tes BiH-31 T8 82
Options :

1. ¥ DHIDh]

2. % fA=ITAR

3. % Uiy

4. % fgHD

Question Number : 86 Question Id : 9277597585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFffEd & @ g adil a1l g BT a9 PIfor-
Options :

1. * AU

2. RN

3. % YR

4. % RAYR

Question Number : 86 Question Id : 9277597585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fr=faRad & I Y a1 aTel oG &1 99 SiTorg-

Options :




Question Number : 87 Question Id : 9277597586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrAfIRed & @ "IfigshR" &1 fadid 2eg D F-1 52
Options :

1. * HUHA

2. % f4ag

3. ¥ WIHR

4. % I}

Question Number : 87 Question Id : 9277597586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frefafed o 9 St R" &1 fAdv Wee HIH-91 82
Options :

1. % AUHMH

2. % fargH

3. ¢ DR

4. % IR

Question Number : 88 Question Id : 9277597587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 71T aTeRIieT o foTT Uh Xeq T =TT HITTT-

3{THT I URHATHT BT g - JH-aTa
Options :

1. ® 3

2. % JHAdY

3. % e



4. Jgadral

Question Number : 88 Question Id : 9277597587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T TTQ aTerRieT o foTT Ueh Req T =T HITTT-

3{THT T YRATHT BT g 1 HHaTan
Options :

1. % 3

2. % 3AATY

3. % 3t

4. fgdarcl

Question Number : 89 Question Id : 9277597588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"I YIBTA" B Fal TR Ffarad & § dH-8 g2

Options :

1. % fop1 & oY U T g SIHT ST fob foban Ydobral B €1 et o, wifdsT Iaes! Tt o1 uar = 9|
2. ¢ a1 & ORI = U 9 fa & IR &1 99T Feve g JHTe 998 S|

3. % a1 o U3 §id g9g gU IHg &1 A¥a I T 8

4. % four o TS99 U 9§ g yar 9 fob far ydera & g arelt off, IR fhalt dRua=r 4 81 9|

Question Number : 89 Question Id : 9277597588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

" YIBTA" B Fal GRS F=fafad & § -8 g2

Options :

1. % foar o TS U Y I8 S W fob fobar YdehTal § 81 361 &, difch 3D ! JH1t o1 Ul 9 <l |
2. ¢ a1 & 59 =9 T foba & ATUR &1 9HY Fhe g1 THG JH ST |




3. % a1 o U3 §id 990 gU Iwg &1 Aa I T 8
4. % four o TS99 U 9§ g yar 9 fob far ydera & g1 arelt off, IR fhat dRua=r 4 81 9|

Question Number : 90 Question Id : 9277597589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fafead § @ HH-u1 fawed Thae-dgaad &1 U8 T el 82
Options :

1. % HYLHYY

2. % HTHAL- HTHATY

3. % HUSLHUS

4. ¢ AHUDB-SHEAMUDT

Question Number : 90 Question Id : 9277597589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=fafad § § HH-91 fddwed Thaa-agadd &1 Ug! I el 82
Options :

1. % HYL-HUN

2. # BT HTHATY

3. % HUS[HUS

4. ¢ AHUD-HHUDR]

Question Number : 91 Question Id : 9277597590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEfeiRad & & foyared &1 =g SifeTe-

Options :

1. ¢ faRTe 39 A= H 35T § Forgd it S Sit v8d 1
2. % A B FHR ST SR T +F S|

3. % Y pa viara § 981 gl




4, % T 3T IV g1 bl g

Question Number : 91 Question Id : 9277597590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fA=faRad o 3 fasareg &1 999 Sifoe-

Options :

1. ¢ faRTe 39 7 # 35T & o it S St vgd 1
2. % T &I GER ST 3R 7 4 e

3. % T od YT & el g |

4. % 7 3771 a9 g1 Tabell g

Question Number : 92 Question Id : 9277597591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR "R G&I® Ugdl g "1 FEfaRad & 9 SHar 4 $H-91 g

Options :

1. % YR A GxI® &I UG g

2. % IR A TP $I T8I el 5|
3. ¥ AR §RT Y& U1 o a1 g
4. % R P Ugdl g

Question Number : 92 Question Id : 9277597591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g1 "R Td® Uedl ¢ 1" F=faied § ¥ sHard U -1 g2

Options :
1. % IR A IS S UgT g
2. % YFR A d &I T81 UgT ¢



3. ¢ AR §RI K gl ST 5! 6
4. % IR & Ugdl g

Question Number : 93 Question Id : 9277597592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=ferfad o T gererT "HrTe OYs SIS & o 31 32
Options :

1. % §<d] DI A1 T

2. ¢ Y Bt ferar-udl BT

3. % 3AY® UGI-ferar Tl

4. % 3fYPH HRIGHIA TR 1|

Question Number : 93 Question Id : 9277597592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=frRad & T QererT "HHTSh grs SreMI &1 &7 31 g2
Options :

1. % §<dif B! =19 g

2. ¢ Y Bt ferar-udl ST

3. % 3AY® Ugl-forar gl

4. % 3P PG JTIR T

Question Number : 94 Question Id : 9277597593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=faRad & O fog deifad &1 ol "9@R g@d o g2
Options :

1. % TSI P gAgd, Al THI qara|

2. % Y HIH Bl RIT 1

3. % gO1 ¥ 91 IS T, BTN HY A |




4. GIA-HId § HHedG|

Question Number : 94 Question Id : 9277597593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=foiRad & @ frg Aeifad &1 3 "dPR gd 31 82
Options :

1. ® HSI & gagd, Al ThT garat |

2. % BIY HH P SR AT

3. % 1Y 91 38 T, HRT YI GlaH |

4. ¢ IA-YId ¥ gy |

Question Number : 95 Question Id : 9277597594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y, I, 37T, aRAd H 3G F SR g aTal are]  $-7db U=aTd HTUIRT BT g |
Options :

1. ¢ 3R g

2. % OroihiaR™ g

3. % IR0 g

4. % foumifeaiys fog

Question Number : 95 Question Id : 9277597594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y, T, 3BT, aad § 31 I R g a7l a1l § 3 U= HTYIRT T g |
Options :

1. ¢ 3eufav™ fog

2. % olpioR I8

3. % I Fag

4. ® foumaifeays g




Sub-Section Number : 2
Sub-Section Id : 927759358
Question Shuffling Allowed : Yes

Question Id : 9277597595 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

f=fefad T &1 eargd e srergd B Ul & I SIfTe-

“Trel 1 faRIY SMRIfa I HH o ATH B HTGAT I Bl o; oI T TG ATl & b B 9gd HH I 9gd WA BT Us 3R B 9gd-9T {7
S| fiHw1 7 HH- AN J Bariad &1 aadl g &I §gd & WF I 3T, TR 39 THeM R Y YRIIRH 9 a1 9 IR 81
HH A O IS 1 9 3R Bl &b 3 Ui TS b 7Tt H ST Y Uh UoT SR G B AT B T, TR AT ST BT SV PHRIP ATAR
AT, T W oo, I07 ¥ gfaq, eF-4mg &1 gfg Ut 3R Y 1 S SR Areq | e URdd a1 Sufifa axg H §f 31 del o
bl § HH A IUFRYT T8l & 3T i I A T B R 8T 7, 3T IGP! 3R HH BT A& BT ¢ | T 3 § HH Pt
IS B & 3R SN 3TE HH Hd YT dh SRI6R Idl-Ialdl § S9! BT M S8 8§ 1«

Sub questions

Question Number : 96 Question Id : 9277597596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUad TR & SR “Thd B! [aRY Sifda” ¥ g o1 o1 SHmR 82
Options :

1. % oY & Ui i vl

2. % Y & gfd i A |

3. % HH & Ufd Afes ay|

4. ¥ Bd & Ufd i Y|

Question Number : 97 Question Id : 9277597597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Iudad T & Yo & 5 s1ig ¥ HH @) IaioHT BIdT § 3R ST 3THE HH $HRd THT dh RIS Ial-dad g, 341 &I | gl
Options :

1. % By




2. % g
3. % 35
4. % 3rgfad

Question Number : 98 Question Id : 9277597598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STed TR o SR, FAHfRad # ¥ fooem HH-AT ¥ Bariad &1 Uaadl 8¢ &1 dgd ol W¥ IUe e
Options :

1. % JoTuIGRIS

2. ¢ dipwr

3. % 4RM

4. % TR H Qi STETur o

Question Number : 99 Question Id : 9277597599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3o T e 3 o o g2
Options :

1. ¥ {4 pI 4|

2. % fordlt & Ul gwl

3. % {ohfl oafard o g & HaHid BT
4. % T & Uid 3dq |

Question Number : 100 Question Id : 9277597600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUdad T & TR 1 & § SH-I1 HY Tl T8 82

Options :

1. % T & faRy afad § HH & ol BT HIaT ST Bl B

2. % 1 g A HH Bl SoT sldt g 3R SN 3fTHE HH Hd HY Th SRR IA-Iadl g I bl 711 I8
3. ¢ fiEHW 3 HH-AN J GarNfad & Uaadl g & Hig Hf WY Iy a1 fea|




4. % T ¥ T8 T ¢ fob U 9gd &Y I1 9gd IR 1 I8 3R ol 9gd-41 [ S|

Question Id : 9277597595 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

ffeiRae eI T e ST PR U P Ik GifoTs-

“Tod 1 TIRIY STfad T HH & ATHI DI HTGAT S 8Iail ; o T T8 31T & [ HH 9gd HH A1 9gd WA BT US 3R T §gd-aT [7d
S| f1FH1 = HH- AN J BaArad & Uaadl g &I §gd ol ¥ I fadT; TR 3% T TR o YRIaRH 39 IR 9 IR 81
HH Il 3TN 81 98 3R Bd & a1 Ul TS 1o 1Tl & STRI0 1 Uh UST Shr U B TR B o, TR T ol BT SIS HRIb HATAR
J A, T R oo, I0T Q gfad, eF-emg o1 gl qur 3R off 71 o e e @i Sad IR a1 Suffa axg B Bt 3wt o
Tt § HH T SURYT I8 & 39N HTIfad S4T & T1fgU | el G X8l §, S ST SR FHH P 06T HIB! g | o 3fe I &1 &
I BIdT 8 3R ST 3fHE HH HR THY TP SRIER IA1-IAdT & S BT A1 ITE § 1«

Sub questions

Question Number : 96 Question Id : 9277597596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TRITRT & SR “Whd B! (9 Sl I e BT T SR 82
Options :

1. % @Y P Ul fAfed 1|

2. % Y & gfd Srdfdes A |

3. % Y & Ul e |

4. ¥ Bd & Uld IS A |

Question Number : 97 Question Id : 9277597597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sudad T & e &, o 3fFig ¥ HH 1 SaioHI 81kl § SR SIl 3G HH $HRd IHT dP SRIeR Ial-dadl g, 39T Bl 4| gl
Options :
1. % DIy
2. % Hg




3. ¢ I8
4, % 3Mgfad

Question Number : 98 Question Id : 9277597598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & TR, F=Red # ¥ oo &H-ART ¥ hamfad & Udddl g2 &1 d9gd 8l W Uy faam
Options :

1. % JoTgIGRISt

2. ¢ dipwr

3. % gRM

4. % TR H qfoid sTeTor

Question Number : 99 Question Id : 9277597599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3o b1 et 3 o o g2
Options :

1. ¥ HI DT |

2. % fordlt & Ufa gul

3. % {ohfl oaferd o Hg & HaHid g
4. % T & Uid 3dq |

Question Number : 100 Question Id : 9277597600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUad TR & TR 1 & § SH-I1 HY- Tl e 82

Options :

1. % Bd 3! fORY 3faq § HH & Al B HIa=T IT7 gl g |

2. % fOrg 3Fe Y HH Pt Il Bl 8 3R Sl 3G HH HRd JHY dF SRR IAI-Iddl § 391 6T A1 I8 B
3. ¢ fiHWN 4 HH-AN I BaNiad & Taadl g &1 iy Hi WP IUCY 6! [&dT|

4. % ford W €l 3111 € foh B 9gd HH I1 9gd IRA BT Us 3R Bd 9gd-91 fid Sl |
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Question Number : 101 Question Id : 9277597601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not based on the study of heterogenous equilibrium?
Options :



1. # Ion exchange method
2. # solubility method
3. ¢ titration method

4. # potentiometer method

Question Number : 101 Question Id : 9277597601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed # & P faumsdig Iqeq & srega IR 3uTid T8l 82
Options :

1. % 3y fafeg fafy

2. # fqcroefierdr fafe

3. ¢ 3{gHUA fafY

4. % GICTREHCR fafy

Question Number : 102 Question Id : 9277597602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The degree of complex formation is called as :
Options :

1. % Average ligand number

2. % coordination number

3. # valance number

4. ¥ valency

Question Number : 102 Question Id : 9277597602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I it &1 {3 &1 a1 91l 6:

Options :

1. % 3Ngd ferfs Tem



2.« IUGgIIISIe T
3. % GO dl 9T
4. % GSIhdl

Question Number : 103 Question Id : 9277597603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the effect on stability if the size of chelating ring increases?
Options :

1. ¥ increases

2. # decreases

3. % remains same

4. % increased by double

Question Number : 103 Question Id : 9277597603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT PIIC! T BT SMBR Tgdl § al FURAT IR FT THIT TS
Options :

1. 9gdi g

2. % UGS

3. % GHF AT g

4. % PG

Question Number : 104 Question Id : 9277597604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a feature of Reactive intermediates?
Options :

1. % often stabilization by conjugation or resonance

2. # often difficult to distinguish from a transition state



3. # prove existence by means of chemical trapping

4. ¥ High concentration with respect to reaction substrate and final reaction product

Question Number : 104 Question Id : 9277597604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafied & @ o I siftifsrareita weaadf o faQwar 2t 82
Options :

1. % SFIR GG I TG gRT RRIHR0T

2. % U GhHUT SaRAT Y 3R FRAT SRR JRhd gIdll §

3. % IS YU o HIegH ¥ i rfad d=Ar

4.« 3ffNiforar wrdga SR Sifaw sifiifrar Iarg & Tey & I Higdl

Question Number : 105 Question Id : 9277597605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the product formed when 3-pentanol is heated with aqueous HCI?
Options :

1. ¥ statistical mixture of the 3-pentyl and 2-pentyl

2. % statistical mixture of the 3-pentyl and 3-pentyol

3. % statistical mixture of the 3-phenyl and 2-phenyl

4. % gtatistical mixture of the 3-pentyl and 3-phenyl

Question Number : 105 Question Id : 9277597605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3-UeTid B STdltg HCl & 1Y TH 31 TR i 91 Iarg (AfHd g
Options :

1. ¢ 3-UeTsd 3R 2-UeTgd o1 gifera g fHrsior

2. % 3.0crgd 3R 3-Ufesia &1 gifere g fiyo

3. % 3 fp1Ed 3R 2-fhTga o1 gifra g fhrsior




4. % 3.UcTRd 3R 3-h1gd &1 Tilksas i fHrgor

Question Number : 106 Question Id : 9277597606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the correct order of stability of carbanion?
Options :

1. ¥ methyl > primary > secondary > tertiary

2. ® methyl < primary < secondary < tertiary

3. #¥ methyl > secondary> primary > tertiary

4. ® methyl < secondary < primary < tertiary

Question Number : 106 Question Id : 9277597606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BTEMTA B RRAT BT Fet hH HT I
Options :

1. ¢ THuRd > wufte > fgdias > gdias
2. % fhusa <urufie <fgdias <F1T-ﬂ'€|?5
3. % fhuEds> fediae> wyffds> ddae
4. % TOYTSA <fgdidd <UTfHed <Jdiid

Question Number : 107 Question Id : 9277597607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the correct value of 1+ R ? (R is Rydberg Constant)
Options :

1.¥911 A

2. % 744 A

3.% 131A

4. % 654 A



Question Number : 107 Question Id : 9277597607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1+ R &1 et A1 1 82 (R Reaf fAuais 8)
Options :

1.¥911A

2. % 744 A

3. % 131A

4. % 654 A

Question Number : 108 Question Id : 9277597608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct formula for wave function?
Options :

1. ¥ Y(x,t) = Acos(kx-wt) (17.1) A

2. % Y(x,t) = Asin(kx-ot) (17.1) A

3. % Y(x,t) = Acos(kx-wt) (27.1) A

4. ¥ P(x,t) = Acos(kx-ot) (18.1) A

Question Number : 108 Question Id : 9277597608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad § 9 & 91 93 91 Bad & forg 98t 82
Options :

1. % ¥(x,t) = Acos(kx-wt) (17.1) A

2. % Y(x,t) = Asin(kx-ot) (17.1) A

3. ¥ Y(x,t) = Acos(kx-wt) (27.1) A

4. ¥ P(x,t) = Acos(kx-ot) (18.1) A

Question Number : 109 Question Id : 9277597609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the correct for Moseley's equation?
Options :

1. ¢ lv=a(Z-b)

2. % \y=a(Z—a)

3. ® \y=a(Z+b)

4. ® v=a(Z-b)

Question Number : 109 Question Id : 9277597609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B I A P iR & e Tgt 82
Options :

1. ¥ \v=a(Z-b)

2. ® v=a(Z—a)

3. % \Jy=a(Z+b)

4. #® v=a(Z-b)

Question Number : 110 Question Id : 9277597610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the correct electronic configuration of platinum?
Options :

1. ¢ [Xe] 4% 5d° 6!

2. #® [Xe] 4f1#4d"° 6s!

3. ¥ [Xe] 4f145d"96s!

4. % [Xe] 4£5d° 652

Question Number : 110 Question Id : 9277597610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



B 1 WeTH &1 I gAgeH =g 82
Options :

1. ¥ [Xe] 414 5d° 65!
2. % [Xe] 4f'#4d™" 6s!
3. #® [Xe] 4f145d06s!
4, % [Xe] 455d° 652

Question Number : 111 Question Id : 9277597611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following method is used for preparation of Gasoline?
Options :

1. ¥ Fisher-Tropsch

2. ® Fisher-Scheele

3. % Scheele

4. % groove's process

Question Number : 111 Question Id : 9277597611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o & 9 for faftr o1 Iuain A= R 37 & fou faar Srar 82
Options :

1. ¢ fheR-gic

2. % fihRR-

3. % T

4. % I Uiehan

Question Number : 112 Question Id : 9277597612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is Schweitzer's reagent?
Options :



1. ¢ [Cu(NH;)4.2H,0]
2. % [Cuy(NH3).2H,0
3. % [Cu(NHy).2H,0

4. % [Cuy(NH3).2H,0

Question Number : 112 Question Id : 9277597612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol § 3 o 91 feR siftietis g2
Options :

1. ¥ [Cu(NH3)4.2H,0]

2. % [Cuy(NH3).2H,0O

3. ¥ [Cu(NH4).2H,0O

4. #* [Cus(NH3).2H,0

Question Number : 113 Question Id : 9277597613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is atomic number of Lawrencium?
Options :

1. % 103

2. %102

3. % 101

4. % 100

Question Number : 113 Question Id : 9277597613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fafied & ¥ & T ARARAH S URATY] IS 87

Options :



1. ¥ 103
2. % 102
3. % 101
4. % 100

Question Number : 114 Question Id : 9277597614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of is the following formula of magnetic moments of lanthanoids?
Options :

1. ¢ [4S(S+1)+L(L+1)]"%

2. % [4S(S+1)+L(L+1)]

3. % [4S(S+1)+L(L+1)]"%

4. % [4S(S+1)+L(L+1)]"Va

Question Number : 114 Question Id : 9277597614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafIRed § I & 91 dRAaSY & Jad g 3TYul &1 37 52
Options :

1. ¥ [4S(S+1)+L(L+1)]"Va

2. ® [4S(S+1)+L(L+1)]

3. % [4S(S+D+LL+D)]"%

4. % [4S(S+]1)+L(L+1)]"V4

Question Number : 115 Question Id : 9277597615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be obtained when C.Hs-Mg-Br reacts with CsHsCOOCH: in the presence NH4Cl and water?
Options :

1. ¥ 3-Phenyl-3-pentanol

2. % 2-Phenyl-3-pentanol



3. # 3-Phenyl-2-pentanol
4. % 4-Phenyl-pentanol

Question Number : 115 Question Id : 9277597615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

NH.CI 3R U1 & SufRufa & ¢ HsCoOCH: B TTY C,Hs-Mg-Br & UTAThaT & T UTed SN2
Options :

1. ¢ 3 AR d-3-UeHd

2. % 2.fpTEd-3-UeHId

3. % 3.fpARd-2-UeHd

4. % 4 fATEd-UcHIA

Question Number : 116 Question Id : 9277597616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Complete the reaction : Phthalic anhydride + sec-Butyl alcohol — ?
Options :

1. ¥ sec- Butyl hydrogen phthalate

2. % sec- hydrogen butyl phthalate

3. # sec-phthalate , butyl hydrogen

4. ® phthalamide

Question Number : 116 Question Id : 9277597616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3fifenan U;Ufﬁ Phthalic anhydride + sec-Butyl alcohol — ?
Options :

1. ¥ sec- Butyl hydrogen phthalate

2. # sec- hydrogen butyl phthalate

3. # sec- phthalate , butyl hydrogen



4. # phthalamide

Question Number : 117 Question Id : 9277597617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete: Methyl isocyanate + —Sevin

Options :

1. ¥ 1- Naphthol
2. % 2- Naphthol
3. ¥ 3-Naphthol
4. # 4- Naphthol

Question Number : 117 Question Id : 9277597617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

quf &3 forTsa ssamg-e + 4T
Options :

1. ¥ 1- eifd

2. % 2. Rifd

3. % 3.9Rd

4. % 4. 90Tq

Question Number : 118 Question Id : 9277597618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not true for effect of dilution?
Options :

1. # Conductance increases

2. ® Specific conductivity decreases

3. * molar conductivity increases

4. ¥ equivalent conductivity decreases



Question Number : 118 Question Id : 9277597618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad § 9 S 91 agHvl (SIARM) & UHTd & fore 9 18 82
Options :

1. % Dl §¢ STl &

2. % fIRY Irddmar ged §

3. % HITR Irahd gl g

4.« U ATl gt o

Question Number : 119 Question Id : 9277597619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is expression of weight deposited on electrode?
Options :

1. ¥ W=ZQ

2. % W=Zt

3. % W=It

4. % W=VQ

Question Number : 119 Question Id : 9277597619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafefad o @ 1M A1 Seldis TR ST HR 1 SiiHodfdR 82
Options :

1. ¥ W=ZQ

2. % W=Zt

3. % W=It

4. % W=VQ



Question Number : 120 Question Id : 9277597620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why it is rare to have a reaction with molecularity 3?

Options :

1. # Because the breakdown in rare

2. ¥ Because chances for larger number of molecules to come simultaneously for collision are less
3. # Because chances of smaller number molecules to come simultaneously for collision are more

4. % Because chances of smaller number molecules to come simultaneously for collision are less

Question Number : 120 Question Id : 9277597620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S{TUTerT 3 & T1 ATNHT ST g Rl 82

Options :

1. % i fquea gadH 8

2. ¢ s I8! T | U[3T & T A1 ST B B TUTT HH Bl ©

3. % i SIS AT o SIS & Uh WY FUST 81 1 FHTET 3P Biell ©
4. % i BICT WA & AU[3T & Th T1Y ST B Bt TUTGT HH Bl ©
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Question Number : 121 Question Id : 9277597621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Half life of which order reaction is independent of initial concentration?
Options :

1. * second

2. ¥ first

3. #* pseudo

4. % zero

Question Number : 121 Question Id : 9277597621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fopa if¥rerar ife o1 ame Sham TR TigdT I W 82
Options :

1. % g

2. ¥ YUYy

3. % <



4. % I

Question Number : 122 Question Id : 9277597622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the formula weight of NH4C1?
Options :

1. # 52.5¢

2. ¥ 53.5¢

3. % 54.5¢

4. % 56.5¢

Question Number : 122 Question Id : 9277597622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
NH.C1 BT T YR &1 §?

Options :

1. # 52.5¢

2. ¥ 53.5¢

3. % 54.5¢

4. % 56.5¢

Question Number : 123 Question Id : 9277597623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the solubility product of HgS?
Options :

1.¥ 4 x10 >ppm

2. % 4 x 10*ppm

3. % 4 x 10 “ppm

4, % 4 x10 *ppm



Question Number : 123 Question Id : 9277597623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HeS &1 ga-=iiadr Sdg &1 82
Options :

1. ¥ 4x 10 >*ppm

2. % 4 x 10 *ppm

3. % 4 x 10 “*ppm

4. % 4 x10 *ppm

Question Number : 124 Question Id : 9277597624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which water can be easily prepared by adding dropwise conc. HCI to a small volume of KMnO4 solution till the pink colour is just discharged?
Options :

1. ¥ Chlorine water

2. % Bromine water

3. ¥ Manganese water

4. % Potassium water

Question Number : 124 Question Id : 9277597624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S I T KMnO4 faaae &1 1St It a1 8§ §g-§g 9ig Hel fire & Tare ¥ 6 Foba- adb ! ¥ daR faar S 9l g2
Options :

1. ¢ FARM Ut

2. % S g

3. % TS O

4. % TIrREE gl

Question Number : 125 Question Id : 9277597625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is another name for Chlorpheniramine?
Options :

1. ¥ Avil

2. % Zeet

3. % Benedryl

4. % Seldane

Question Number : 125 Question Id : 9277597625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfRed & § ®1F T FARBARTRZ HT GIRT 14 87
Options :

1. ¥ 3did

2. % e

3. % gIgIA

4. % Yoo

Question Number : 126 Question Id : 9277597626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Constraints containing time explicitly are called as
Options :

1. # Holonomic

2. % Non - Holonomic

3. % Scleronomic

4. ¥ Rheonomic

Question Number : 126 Question Id : 9277597626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



I WY1 Gord SaR1Y ) P8I Sl &
Options :

1. ® AMIHG

2. % RS

3. ® TRRMIMHS

4. ¢ RIS

Question Number : 127 Question Id : 9277597627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Compton wavelength for an electron is
Options :

1. ¥ 0.0242x10°m

2. % 1.000x10'°m

3. % 2.99x10°m

4, % 0.051x10°m

Question Number : 127 Question Id : 9277597627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Teb SoIaeH & 170 e RIee §
Options :

1. ¥ 0.0242 x 10°m

2. % 1.000x10°m

3. % 2.99x10°m

4. % 0.051x10'°m

Question Number : 128 Question Id : 9277597628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The uneven distribution of alternating current over the cross section of the conductor is known as



Options :

1. # Hall effect

2. # Photoelectric effect
3. % Skin effect

4. ¥ Magnetic effect

Question Number : 128 Question Id : 9277597628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AAH & IR HIC TR YATGd! URT o A A0l DI Hgl ol §
Options :

1. # g UHIg

2. % YhRI-faggd uHId

3. ¢ JURER UG

4. % YD GHId

Question Number : 129 Question Id : 9277597629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process in which an electron and a positron combine to yield gamma ray photon is called as
Options :

1. # Pair production

2. ¥ Annihilation

3. # Optical pumping

4. # population inversion

Question Number : 129 Question Id : 9277597629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I Ufshar foras U sdiaeT 3R Ueb Uleiield feresR T fbvur thield Sausl Rd &, I Bl ol 8

Options :




1. % g IdTe

2. ¢ IR

3. % 3PDhd i

4. % AR UfAE (UreraR- 398)

Question Number : 130 Question Id : 9277597630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

law states that in a system in thermal equilibrium, on the average, an equal amount of energy will be associated with each degree of
freedom.

Options :

1. # Wien’s Distribution

2. ® Rayleigh-Jeans

3. % Kirchhoff’s

4. ¥ Equipartition of energy

Question Number : 130 Question Id : 9277597630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fgn Hedr & for i Iqad & U yumelt #, idH, Ude ST & Wdadl & 1Y T JHH A1 H 3ol got grf|
Options :
1. % fag faavor
2. % QS
3. % fozdl
4. ¢ SHAl-GHQYSH (SfHUIERM 34 ToN)

Question Number : 131 Question Id : 9277597631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In statistics , particles can have any spin.
Options :

1. ¥ Maxwell -Boltzmann



2. % Bose Einstein
3. # Fermi-Dirac
4. % Electro

Question Number : 131 Question Id : 9277597631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qifees! #, Ul H Dig it {8 81 gabell 1
Options :
1. ¢ HFAd -diecqH
2. % 91 3R
3. % GH-fEI®
4. % goaC]

Question Number : 132 Question Id : 9277597632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One curie(Ci)is equal to  becquerels(Bq).
Options :

1. % 3.0x10" Bq

2. % 2.0x10" Bq

3. % 1.0x10" Bq

4.+ 3.7x10'° Bq

Question Number : 132 Question Id : 9277597632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TH R (C)  dhd (Bq) P R g
Options :

1. #® 3.0x10" Bq

2. % 2.0x10" Bq



3. % 1.0x10% Bq
4. 3.7x10" Bq

Question Number : 133 Question Id : 9277597633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The A.C. Bridge used for measurement of large Inductnace is called as
Options :

1. ¥ Hay Bridge

2. # Meter Bridge

3. ¥ Potentiometer

4. # Hartley Bridge

Question Number : 133 Question Id : 9277597633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

93 IR & AT & oy IuaiT e oM a1t A.C. fosl &Y g SIrar @
Options :

1. v g foret

2. % HicX foe

3. % fayaaTd!

4. % gIed forel

Question Number : 134 Question Id : 9277597634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
law is used to determine the disintegration constant A.
Options :
1. # Coulombs
2. % Faraday
3. ¥ Geirger-Nuttal



4. ¥ Boit-Savart's

Question Number : 134 Question Id : 9277597634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

w1 Iuan f5Redvm RIS L & uiika o & fou fear srar gl
Options :
1. % HAm
2. % HIIS
3. ¢ TSIR-ACd
4. % SEOL.YTE

Question Number : 135 Question Id : 9277597635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SQUID stands for

Options :

1. ¥ Superconducting Quantum Interference Device
2. # Solid Conducting Quantum Intel Device.

3. # Super conducting Quantum Interaction Device.

4. ® Super conducting Quantum Interlink Device.

Question Number : 135 Question Id : 9277597635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SQUID BT 3 8
Options :
1. ¢ {iuwsfo?éu ®icH 'i;diab-z{-l [SAIgY (Superconducting Quantum Interference Device)

-~

2. % Jifcrs dhafact HicH $cd [edgd (Solid Conducting Quantum Intel Device)
3. %8 W HefdcT HicH ’éc\{d*%l"l [SdILY (Super conducting Quantum Interaction Device)

[

4. % R HefdcT HicH EEINEACIER (Super conducting Quantum Interlink Device)

D

D

D

D




Question Number : 136 Question Id : 9277597636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The instruments based upon the principle of interference are called
Options :

1. ¥ Interferometers

2. # Prism

3. ® Optical meters

4. % Biprism

Question Number : 136 Question Id : 9277597636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HATTHRUT & RIGId TR SR USRI DI BT STl &
Options :

1. ¢ HfdpUHTG!

2. % fUsH

3. % 3MfPpd AR

4. % SISMOSH

Question Number : 137 Question Id : 9277597637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the plane diffraction grating experiment, the maximum order of the spectrum that can be observed are
Options :

1. % Four

2. # Infinite

3. % Three

4. % Two

Question Number : 137 Question Id : 9277597637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

e g AT i H, < S Aeb-! aTel WereH 1 3(fHebaH HH §
Options :

1. % gR

2. % 3Fd

3. ¥ T

4. % g

Question Number : 138 Question Id : 9277597638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The size of the Quantum dot typically ranges from __ to _ in diameter.
Options :

I. # 1Inm-5nm

2. % 2nm-10nm

3. % 3nm-5nm

4. # 4nm-5nm

Question Number : 138 Question Id : 9277597638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HicHSIC HINMPRIAMIRR IS A A grar gl

Options :

1. #* 1nm-5nm
2. % 2nm-10nm
3. % 3nm-5nm

4. # 4nm-5nm

Question Number : 139 Question Id : 9277597639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



@R HUIfoie Pt dibd sgH P oy BT IYTNT fHaT o gohar 3|
Options :

1. ¢ SHIeH AHiegd

2. % fafgw SHegE

3. % SfIRISH "Hicyd

4. % GIZIIoH HIcyd

Question Number : 139 Question Id : 9277597639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
can be used to increase the strength of plastic composites.
Options :
1. ¥ Carbon nanotubes
2. # Lithium nanotubes
3. % Oxygen nanotubes

4. ¥ Hydrogen nanotubes

Question Number : 140 Question Id : 9277597640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The condition where the number of atoms in the excited state exceeds that in the lower state is called
Options :

1. ¥ Population inversion

2. % Optical pumping

3. # Stimulated emission

4. % Photoelectric emission

Question Number : 140 Question Id : 9277597640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IE STRIT STE1 IafoTd a1 T TRATU[SHT 1 TR et SrawyT & URHTIST &1 ST ¥ 3w gl 6, 39 Hal oirdl §



Options :
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2. % 3IDhel UieiT
3. % JEId IToi
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Question Number : 141 Question Id : 9277597641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For ruby laser, the active centre is
Options :

1. ®# ALO:s

2. % Cr20s

3.9 Cr

4. % Al

Question Number : 141 Question Id : 9277597641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol ooR & fore, Afba o 8

Options :

1. % AlO:s

2. % Cr20s

3.¢ Cr*t

4. % Al

Question Number : 142 Question Id : 9277597642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Magnetic dipole moment equation is given by
Options :

1. ¥ M=IA

2. % M=IA?

3. % M=IPA

4. % M=(1A)*

Question Number : 142 Question Id : 9277597642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

a1y fgyd) amgul aHfie=u g grT fear e @
Options :

1. ¥ M=IA

2. ¥ M=IA?

3. % M=I*A

4. ¥ M=(1A)?

Question Number : 143 Question Id : 9277597643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a pair of electrons in a superconductor that are attractively bound and have equal and opposite momentum and spin.
Options :
1. ¥ Copper pair
2. % Helium pair
3. ¥ Hydrogen pair
4. % Oxygen pair

Question Number : 143 Question Id : 9277597643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ffaTaed T Saagi-i &1 U i § Sl THhYH &0 F §9 8d & 3R T 3R fauid YaT iR Il 8id 5 |

Options :

1. ¥ IR gH

2. % fgferaq gm

3. % GRS g
4. % SlRirSH gH

Question Number : 144 Question Id : 9277597644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
shield is used in shielding astronomers from energetic solar flare.



Options :

1. ¥ Plasma radiation
2. % Electro static

3. ¥ Magnetic

4. % Electric

Question Number : 144 Question Id : 9277597644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT DT IUTNT TG bl SHoliar IR Usard I g9 & folg fHar Siar g |

Options :

1. ¢ e fafhur
2. % fRRaggfa®!
3. % 4ahiy

4. % fdggd

Question Number : 145 Question Id : 9277597645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the special theory of relativity, mass of the particle increases when its velocity
Options :

1. ¥ Increases

2. % Decreases

3. #® Constant

4, % Zero

Question Number : 145 Question Id : 9277597645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3MUferehdT RIGid & SFUR, HUT BT GHHM a9 Sadl § ofd 9P avl
Options :




1. ¥ dgdle
2. % gedig
3. % [qudise
4. % Y

Question Number : 146 Question Id : 9277597646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a sub-group is identical with its conjugate sub group, then it is called as
Options :

1. #* Factor group

2. # Conjugate sub-group

3. % Normal sub - group

4. % Cyclic group

Question Number : 146 Question Id : 9277597646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e HI3 IU-THE U T IUGHE & Y g1, Il I gl Sl &

Options :

1. ¥ ®RH JHg

2. % Y IU-TE
3. ¢ {MHY 3U-Hig
4. % T g

Question Number : 147 Question Id : 9277597647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

theorem states that “Any linear circuit containing several energy sources and resistances can be replaced by a single Constant Current
generator in parallel with a Single Resistor.

Options :
1. ¥ Norton's



2. % Thevenin's
3. % Superposition

4. % Maximum power transfer theorem

Question Number : 147 Question Id : 9277597647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UAY Hgdl § [ P Soll Fdl iR ufaRiel ara fosedt i ¥Rae ufuy o) terd ufaRiye & THMIGR Ted ulkadf urT S
ERT Ui 5 o gebe 2 |

Options :

1. A1

2. % ¥afaq

3. % RIU

4. % Ugu fdd R0 U8y

Question Number : 148 Question Id : 9277597648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A conservative dynamical system will have attractors.
Options :

1. %1

2. %2

3.%3

4.0

Question Number : 148 Question Id : 9277597648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S Wef Mg a3 o 3R BT
Options :

1. % 1



2.% 2
3.% 3
4.0

Question Number : 149 Question Id : 9277597649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to string theory is a physical object that generalizes the notion of a point particle to higher dimensions.
Options :

1. ¥ Brane

2. % Axino

3. # Dilaton

4. # Gluino

Question Number : 149 Question Id : 9277597649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I Rigid & SR TH HIfd® a¥q § Sl U foig HUI 1 YRON B 3o faHT & e Fdighd vt g |
Options :

1. ¥ oH

2. % TR

3. % f&ared

4. % T

Question Number : 150 Question Id : 9277597650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In _ string theory, the strings are unoriented and contains open and closed srings .
Options :

1. ¥ Typel

2. % Type Il A



3. % TypelI B
4. # Matrix

Question Number : 150 Question Id : 9277597650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

_ ERiEid d, g S 8 § ok 39 g SR 9 R gid § |
Options :

1. ¥ JhR 1

2. % JbRII A

3. % JbRIIB

4. % TR

Question Number : 151 Question Id : 9277597651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is used for the preservation of footprint on snow?
Options :

1. # Plaster of Paris (POP)

2. % Tracing

3. % Wax

4. ¥ Sulphur

Question Number : 151 Question Id : 9277597651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad fawedl 1 U forae! SUAN 9t R UGl o AR&T o ford fasa ST 82
Options :

1. % TR 3% URY (POP)

2. % X (SR

3. % WA (@)




4, ¢ e

Question Number : 152 Question Id : 9277597652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the beginning to the end of the crime scene investigation, which of the following are excluded from strict anti-contamination measures?
Options :

1. ¥ Keeping away from using any facilities available at the scene

2. #® Avoiding moving anything/anybody, unless it is of absolute necessity

3. ¥ At the crime scene, use only one single each entry and exit path

4. ® Wearing protective clothing, gloves and shoe covers

Question Number : 152 Question Id : 9277597652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STRTY VYT B XA W ABR 37 db D1 oird B, Fafaied o 3 i T 3f-Hguur Sur § §Tex T Sl 82
Options :

1. % FeARId R Iuasy forddt off faem &1 IuamT o= W g &1

2. % 9§ dob foh 3 3Ma=ges 7 81, oo Hi/fdt & 1t U R F g RIM R G 9§ &1

3. ¢ IIRTY WA W, Had Th gl U 3R T T BT UGN H3eAT|

4. % RS HUS, T 3R Id & HaR Tg-H|

Question Number : 153 Question Id : 9277597653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a search pattern in which the area is divided into pie slices or sections of a wheel, usually six in number
Options :
1. ¥ Wheel method
2. # Spiral method
3. # Strip method
4. % Zone method



Question Number : 153 Question Id : 9277597653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS Wiol Ue & fSad &5 &1 Urg gy a1 gada! | fauiford farar Srar 8, St SiHaR IR §8 Y # 8id g |
Options :
1. ¢ 9% (@) fafdr
2. % gffd (s fafd
3. % ugt (few fafy
4. % &3 (o) fafe

Question Number : 154 Question Id : 9277597654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following technique is used for measuring the molecular weight and determining the molecular formula of an organic compound?
Options :

1. # Gas chromatography

2. # Thin layer chromatography

3. % High-performance liquid chromatography

4. ¥ Mass spectrometry

Question Number : 154 Question Id : 9277597654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{TUIfae YR &1 AT 3R ST A & Suifds g &1 Fufika s & fag Fafafed 3 3 {69 ae-ie &1 SuaiT foaar st g2
Options :

1. % T guicRa (19 HIHCHTDY)

2. % gdoll R guieiRad (U AR e
3. % I UG ok quicad

4. ¢ ST WaeHAfd @ Wagmc)



Question Number : 155 Question Id : 9277597655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the INCORRECT feature regarding the importance of fingerprints in criminal investigation?
Options :

1. # Universal

2. % Inimitable

3. % Uncharacteristic

4. % Permanent

Question Number : 155 Question Id : 9277597655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STRTIY Sl # J7ferdl o M= & A & oy H Faffad o 3 Ted fa=ivdr &1 ggae &2

Options :

1. % FaqItD

2. % 3FIDHUNY (Inimitable)

3. ¢ JHIfdH (Uncharacteristic)
4. % R

Question Number : 156 Question Id : 9277597656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When a small curved ridge, which is attached to main ridge, forms a spur like appearance, such ridge is known as
Options :

1. % Fragment ridge

2. % Ridge ending

3. % Enclosure ridge

4. ¥ Hook ridge

Question Number : 156 Question Id : 9277597656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

OTd UF BIcl gATER ded (Ro), Sl 30 ded 1 981 8Id1 8, T Pic (WR) ol foadn 7, df T ded &l FHEI I8
Options :

1. % W3S Heh (e e

2. % FHedh ga (RS ufém)

3. % JAUD Hed (TR ¥

4. ¥ §P Hed (g Rol)

Question Number : 157 Question Id : 9277597657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct order of priority from the given options for arithmetical operations:
1. Evaluate any powers that are present

2. Complete any operations within each set of brackets

3. Carry-out multiplication and division operation

4. Complete any addition or subtraction

Options :

1. % 1-2-3-4
2. % 1-2-4-3
3.¥2-1-3-4
4, % 2-1-4-3

Question Number : 157 Question Id : 9277597657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BTN vraraHT (Sforanath) o for fau e fawedl o T urdfirendt & T8t | & Ugd™ & :
1. Tt o SUlRYd a1 o1 Gedich

2. DIYD| & TP G o HidR IUTRA forft 1t BT e &8

3. T[0T 3R YT JaATe & ORT B

4. Wlﬁ?ﬂmﬁ?%wﬁq:ﬂﬁ

Options :

1. % 1-2-3-4

2. % 1-2-4-3




3. ¢ 2-1-34
4, % 2143

Question Number : 158 Question Id : 9277597658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT one of the most useful tool in the analysis and interpretation of experimental data with the forensic discipline?
Options :

1. ¥ Phasor representation

2. % Tables

3. % Graphs

4. ® Statistical distribution

Question Number : 158 Question Id : 9277597658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafad 7 F oH-91, PRIYS &7 5 1Y TIRTHED ST P AT 3R RS H I SUIANT IUHR0N & 3 Uh Tl 52
Options :

1. ¢ F&bTd (BhoR) ey

2. % qIfereTd (C9a)

3. % Jh

4. % FiRADIY faavor

Question Number : 159 Question Id : 9277597659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is useful to determine whether the given stain is of blood or not on the crime scene.
Options :
1. % Spectrophotometry
2. ¥ Visual examination

3. # Enzymatic activity



4. % (Cell structure identification

Question Number : 159 Question Id : 9277597659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tg FuiiRa A & e Iyt g fos o 7T g SroRTY i & W &1 § a1 761 |

Options

1. # yfafdaffa @agmiemd)
2. ¢ TG e

3. % UorgHl Tidfafy

Question Number : 160 Question Id : 9277597660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following color tests, the pink coloration indicates blood?
Options :

1. ® Benzidine reaction

2. # Leucomalachite reaction

3. ¥ Phenolphthalein reaction

4. ® Crystal test

Question Number : 160 Question Id : 9277597660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & 9 fore 11 wRieron &, Tars 7 3ad &I SRTd ol 62
Options :

1. % dforerg sififear

2. % gHHdBIge ANfdHar

3. ¢ TOHTeUele srftfchar

4. % fopked WRIefu
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Question Number : 161 Question Id : 9277597661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is one of the method of dental age estimation in children and adolescent?
Options :



1. # Morphological techniques
2. # Radiographic method

3. % Gustafson’s method

4. ¥ Atlas method

Question Number : 161 Question Id : 9277597661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prafiad et § € B, waif IR Rl 3 < oy o &1 1o R 2
Options :

1. % PHfad @RI ) dh-ID

2. % Yfegmnitbe fafy

3. % YA fafy

4.« Ty fafy

Question Number : 162 Question Id : 9277597662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In clinical psychology, falsification or profound exaggeration of illness (physical or mental) to gain external benefits is termed as:
Options :

1. # Insanity evaluations

2. ¥ Malingering

3. # Sentence mitigation

4. % Competency evaluations

Question Number : 162 Question Id : 9277597662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A% AT §, T8l aH UTd B & forg et miRe a1 amfies) o1 fireor a1 18+ sifa=mafad CaNIGI

Options :

1. % I (ST Jedidh




2. ¢ FASAT (AfITR)
3. #% Fog e
4, % QrOdl Gedich

Question Number : 163 Question Id : 9277597663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Scanning Electron Microscope (SEM) coupled with an Energy Dispersive Spectrometer (EDS) is used in the analysis of
Options :

1. ¥ Gun shot residue

2. # Toxins

3. # Arson investigation

4. % Noxious chemicals

Question Number : 163 Question Id : 9277597663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fowRig Waghiiex (EDS) & 1Y Wb {1 SAdCH HIZHIRDGIY (SEM) BT STTRT % fazaor & far Srar g |
Options :

1. ¢ Tcll 3{aRY (THRIIC)

2. % fourad yerd

3. % 3O S

4. % SRS G

Question Number : 164 Question Id : 9277597664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following instrumental technique of forensic chemistry are also employed in analyzing the papers and inks of questioned documents
and to determine the characteristics of microscopic glass fragments?

Options :
1. # Nuclear magnetic resonance spectrophotometry

2. # Gas Chromatography- Mass Spectroscopy



3. % UV- VIS- NIR Spectrophotometry

4. % Fourier Transform Infrared Spectrophotometry

Question Number : 164 Question Id : 9277597664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WIS I fage &t Fgfafed & 9 HH-5 gifes de-ie It gxdael & Ua 3R W1l &1 fa<eyu H aUT &id & Y& Thal &
&0l B Feiid B & 1 ugad S 22

Options :

1. # YD e g 3TE ufafdafif (famr Tifes TWHY Waehiemd)

2. % I qUieRaA - GogH fafdaes (R SR - AR Wae ke 1)

3. ¢ UV- VIS- NIR Ufdfdafarfd

4. % HRIR FUR faRad UfdfaHfd (BRI TR H $3hRS WaehieHe))

Question Number : 165 Question Id : 9277597665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the correct element of crime scene kit for collection of evidence in case of charred documents?
Options :

1. # Polyvinyl acetate solution (7-9 percent in acetone)

2. % High resolution camera (minimum 160 megapixels)

3. ¥ High intensity light source

4. % Thick glass sheets

Question Number : 165 Question Id : 9277597665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST §U GATdel & AT B e Uaha H3- & forg, FafaRad & 9 SH-91, SRy R fahe &7 981 I 82
Options :

1. % Tloifogd wice f[aaa (Tdte | 7-9 Ufa=id)

2. % I [qUeE / RelTeg=RM HHRT ([T 160 FMTUERI)




3. ¥ I digdl Bl BT A
4. % T HId & THD (TTaY)

Question Number : 166 Question Id : 9277597666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is minimum number of photographs that should be taken for general view of the crime scene?
Options :

1. %2

2.%3

3.¥ 4

4. % 6

Question Number : 166 Question Id : 9277597666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRTY Y & FHRI €= & ol gAay fabe= adR o St =nfge?
Options :

1. % 2

2.% 3

3.¥°4

4. % 6

Question Number : 167 Question Id : 9277597667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following cyber crime is classified as crime against property?
Options :

1. ¥ Credit card fraud

2. # Spamming

3. % Forgery

4. # Unauthorized access of computers



Question Number : 167 Question Id : 9277597667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & 9 ford TaR ofiRTY &I AUl & a9 SIIRTY & =0 § aifidd bl T g2
Options :

1. ¥ $higc BT UraIyS!

2. % Wi

3. ® TSl

4. % S B 3P Ugd (THIY)

Question Number : 168 Question Id : 9277597668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The software that secretly collects information and then sends it out to the concerned parties is called as
Options :

1. % Virus

2. % Adware

3. ¥ Browser hijacker

4. ¥ Spyware

Question Number : 168 Question Id : 9277597668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I APEaIR DI T HEd & ol T U I BRI Tha Hal g 3R e 34 afd el ! Horal g2
Options :

1. % dIIRY

2. % TSR

3. # FISOR BIEuIdhR

4. ¢ WIZAW




Question Number : 169 Question Id : 9277597669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which method is based on inelastic scattering of one-color light, generally through a laser source which basically means that the occurrence of
photons in one-color light deviates during interaction with a sample?

Options :

1. ® Atomic Absorption Spectroscopy

2. % Raman spectroscopy

3. # Fourier transform infrared spectroscopy

4. ® UV-Vis spectroscopy

Question Number : 169 Question Id : 9277597669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DHI-T fafer SR TR TP AoR Td & A1eqH I Th-31 o YHT & A= b0 R TR 8, foraet god: 78 31 § fs w3
TR H el o SUTRUT T A & 1Y ST & SR faaferd gl it 82

Options :

1. % NG E=NYUr YfafdaesE (Tt eai=i- Wae R )

2. ¢ T ufafdee==

3. % HRIR TR 37avad UidiaaaRH (HRAR THIH SRS Wac kP IUT)

4. % UV-Vis fdfdeesE

Question Number : 170 Question Id : 9277597670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Computer vandalism is classified as which type of following cyber crime?
Options :

1. # Criminality against individuals

2. # Criminality against organization

3. ¢ Criminality against property

4. ® Criminality against society



Question Number : 170 Question Id : 9277597670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR SR (dSfere™) B ford ThR & AZaR SHIRTY & =Y H i fobdm 71 52

Options :

1. % faadl & gfd raRy
2. % WIS o Ui U=y

3. ¢ ORI & Ufd SraRTy

4. % AN & Ul SURTY

Question Number : 171 Question Id : 9277597671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
means stealing of trade secrets through illegal means such as wiretapping or illegal incursions.
Options :
1. ¥ Corporate espionage
2. % Money laundering
3. ¥ Embezzlement

4. # Cyber terrorism

Question Number : 171 Question Id : 9277597671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&1 31 IR-GIe (GRR-CTUT) TT 3faY THUS oY 31dY TRID| I IR B! &1 IR} BT 6|
Options :
1. ¢ PHIURS SR
2. % YR (T Al )
3. % Tg (TETIEHC)
4. % YIgaR AHTdhdlq

Question Number : 172 Question Id : 9277597672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

is an advanced form of phishing, which redirects the connection between an IP address (i.e., consumer seeking legitimate site) and its
target (i.e., legitimate site).

Options :

1. # Spoofing

2. # Redirectors

3. % Advance-fee fraud
4. ¥ Pharming

Question Number : 172 Question Id : 9277597672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ORI &1 U ITd U B, S TP 1P Ud (3rfd, AU T1ge =g aral IuHIaT) 3R I9P ded (3rdfd, Y T1ge) & oiF Hax &
TSR (SR FRaT g
Options :
1. % IgthT
2. % JSRRFR
3. % 30T Yo YRATYS! (TSAT-W] Whis)
4. ¢ IHT

Question Number : 173 Question Id : 9277597673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The largest and strongest bone of the face that serves for the reception of the lower teeth is known as:
Options :

1. # Hyoid

2. % Mandible

3. % Sacrum

4. ® Vertebrae

Question Number : 173 Question Id : 9277597673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A DI Y TS 3R AIGd 831, S 93 aidll & SHfRIE BT B Hrell 8, Hgand gl
Options :

1. % B3PI (BR3H3S)

2. ¢ foge @fsaq)

3. % By @%H)

4. % HIBH] (Tey)

Question Number : 174 Question Id : 9277597674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are trimming or cutting teeth and their chief role is to pierce and break down the food in the course of chewing.
Options :
1. ¥ Permanent Mandibular Central Incisor
2. % Permanent Mandibular Lateral Incisor
3. # Permanent Mandibular Canine

4. ¥ Permanent Mandibular First Premolar

Question Number : 174 Question Id : 9277597674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
W aId & 3R 9! T UfHhT IaH & SR HioH Bl a1 iR disT ]|
Options :
1. ¢ R SeTEel HEd Had (RAMC AFSTR Ygd SZOR)
2. % QT 3feigds Uie drad (IRATC AfSTeR derd STEeR)
3. % YT} 31eNETSl Ygd (RHTC HISTR H18)
4. % YT} SreligIol TUH 3 T4V (IRHMC HISYR e YTHIeR)

Question Number : 175 Question Id : 9277597675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which is the elongated and strongest bone of the human body that is practically cylindrical in the superior part?
Options :

1. # Tibia

2. % Femur

3. # Fibula

4. ® Carpals

Question Number : 175 Question Id : 9277597675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT IRR DI I T 3R ASGd 85! HIH-UT § ol SHURT U H ARG © 0 Y SaIHR gidl 82
Options :

1. % 3iqeifoet (fRefaam

2. ¢ ARy (BIR)

3. % dfgsie (fthgem)

4. % AOMEY (@®Td)

Question Number : 176 Question Id : 9277597676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
allows programmers to think about programs at a higher level without bothering about the low-level implementation details.
Options :
1. # Optimization
2. ¥ Abstraction
3. % Safety

4. % Documentation

Question Number : 176 Question Id : 9277597676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



|, % SYAHIGRU (ITDHEWTH)
2. ¢ G (TR HIM)
3.*11?%(@11?’[)

4. % TG (SIFgHCTM)

Question Number : 177 Question Id : 9277597677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let S be the set {1, 2, 3} and T the set {3, 4, 5}. Then S-T=?
Options :

1. % {1}

2. % (2}

3. % {4,5}

4.9 (1,2}

Question Number : 177 Question Id : 9277597677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A ST S Th = § S {1, 2, 3} 3IR T UH Ig=ad g off {3, 4, 5} gl Y S-T=?
Options :

1. % {1}

2. % {2}

3. % {4,5}

4.9 {1,2}

Question Number : 178 Question Id : 9277597678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The basic parts of an instruction cycle include fetch, , read the effective address from memory and execute.
Options :

1. ¥ decode



2. * encode
3. #* delete

4. % write

Question Number : 178 Question Id : 9277597678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬁ%ﬂ%%ﬁa Wﬁﬂlﬁlﬁ%, TARY A g Ut (effective address) Eh_t[m, DAL Y-l aﬁvs@rﬁwﬁaml
Options :

1. ¢ fepis (decode)

2. % TPHIS (encode)

3. % fgdile (delete)

4. % X[ (write)

Question Number : 179 Question Id : 9277597679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Because we are predicting the outcome of branches (and maybe other things), we do not necessarily know for sure that when we execute an
instruction we will actually end up using the result. What this process is known as?

Options :

1. # execution
2. ¥ speculation
3. #¥ scheduling
4. # branching

Question Number : 179 Question Id : 9277597679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fifer g1 TSl (3R WG 3= Jieih) & URUTH &1 YaigaM ol 36 &, ST 88 JR&] dR WX gl oiHd g o oid 89 foddt Feer ol
fufed SR € Al Idd # SHRT 3id TR BT IUUNT B W BIdT & | 39 UlchaT & f6g 71 I ST Sl 82

Options :

1. % fhgr=aa9 (execution)




2. ¢ 3{HI (speculation)
3. % YD (scheduling)

4. % TG (branching)

Question Number : 180 Question Id : 9277597680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of communication reflects transparency on the part of the communicator?
Options :

1. ¥ Assertive

2. # Passive

3. #® Aggressive

4. ® Passive - Aggressive

Question Number : 180 Question Id : 9277597680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y TR BT IR, YIRS D1 3R J URSRIAT B! SidT 82
Options :

1. ¢ Ry (3rgfda)

2. % fafsry @R

3. % 3HHS (3URA)

4. % fAfepg-snemes ORYT-3/IRa)

Discipline5
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Group Marks : 20
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Number of Questions : 20

Number of Questions to be attempted : 20
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Sub-Section Id : 927759363

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9277597681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What we should not do during Group Discussion?
Options :

1. #* Use illustrations or data if necessary.

2. ¥ Hit your fist on the table.

3. % Keep eye contact with others.

4. * Take the point positively.

Question Number : 181 Question Id : 9277597681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



74 SR & GRIF g8 o1 Ta] BT AMT?

Options :

1. % gie 1agD gl dl o= A1 ST BT IUTNT e |
2. ¢ U 43T ¥ Hol R YR P |

3. % QIR & 91y 3@ ¥ YU 14 X |

4. % g Dl YHRIHD FY I o |

Question Number : 182 Question Id : 9277597682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which type of data structure all items are inserted at one end (called the rear or the back or the tail) and deleted at the other end (called the
front or the head)?

Options :

1. # Stack
2. ¥ Queue
3. % Array

4. % Structure

Question Number : 182 Question Id : 9277597682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{5 JPR o1 ST WA § gt a3gsil &1 U 3R W ITaT 91T g (S AR a1 9% 1 ¢ $8T 3l 8) 3R gk B8R WR fSefte = faa
ST § (o7 e O1 S &gl ST §)?

Options :

|. % WP (Stack)

2. ¥ & (Queue)

3.8 W (Array)

4, ® ICHIR (Structure)

Question Number : 183 Question Id : 9277597683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In which of the tree, the heights of the right subtree and left subtree of the root differ by at most 1
Options :

1. ¥ Red tree

2. % Binary tree

3. ¥ AVL tree

4. ® Search tree

Question Number : 183 Question Id : 9277597683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fb _g.f)[ (tree) T, ¥ b qlu "v'la—gf[ (subtree) 3R EMY Fla—gpf (subtree) &1 Gdls U 31l 1 &7 3R IdT /2
Options :

1. %38 _9\9[ (Red tree)

2. % 91341 € (Binary tree)

3. ¢ TAITA Tl (AVL tree)

4. % I & (Search tree)

Question Number : 184 Question Id : 9277597684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which statement is true for conceptual data independence?

Options :

1. # Ability of a data base application to continue to run, after tuning is performed at the physical level.

2. # Inability of a data base application to continue to run, regardless of what tuning is performed at the physical level.
3. % Inability of a data base application to continue to run, after tuning is performed at the physical level.

4. ¥ Ability of a data base application to continue to run, regardless of what tuning is performed at the physical level.

Question Number : 184 Question Id : 9277597684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JeTRep SeT Taad] (conceptual data independence) & forg DT HYF gl %‘?




Options :

1. % ffdd TR R ST P 912, STy URIHIH S Ia & &

2. % e TR RS ot S P STl 8, 39 IRaTe [T AT Sered Tt &l Tam H sraadd|
3. % i TR W ST 6T T & 916, STTey TWHRH & Iam 8 SR

4. ¢ WMfdd TR W S ST 31 S0 R, SBT URATE fohT faAT ey TR &1 Iam &t &

Question Number : 185 Question Id : 9277597685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Software size may be estimated in terms of in the software.
Options :

1. #® Database

2. % Data structures

3. # Kilo Line of Code

4. # Documentation

Question Number : 185 Question Id : 9277597685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR B FIeddR & MHR BT ATHA & =0 T T o obal B
Options :

|. % S99 (Database)

2. % ST YT (Data structures)

3. ¢ DS I fobdl A3 (Kilo Line of Code)

4. % Y™ (Documentation)

Question Number : 186 Question Id : 9277597686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Function point counts on five parameters, named as External Input, External Output, , External Interface Files, and External Inquiry
Options :



1. ¥ Logical Internal Files
2. # Logical Internal objects
3. % Logical Records

4. * Internal Records

Question Number : 186 Question Id : 9277597686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e @Ie Uid Hcs| R A1 a1 &, ST sTexl 377ge, a6t #3eye, , STEX SR BT3d SR ST6Y) IR aTs (S &
ATE § ST STl 6 |

Options :

1. ¢ difdhes 3fialke Wwisd (Logical Internal Files)

2. % diide 3MidRe U (Logical Internal objects)

3. % qIfdhd Rbis (Logical Records)

4. % 3fiaRe Rels (Internal Records)

Question Number : 187 Question Id : 9277597687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Characteristics of unreliable channel will determine complexity of reliable
Options :

1. # address transfer protocol

2. ¥ data transfer protocol

3. #* packet transfer protocol

4. # File transfer protocol

Question Number : 187 Question Id : 9277597687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fIyga 2= (unreliable channel) & A foya-a HI Sfedar &1 YR S|

Options :



1. % U9 TIAWR UICIPId (address transfer protocol)
2. ¥ 3l TR PIECI! (data transfer protocol)

3. % Ok TR UIeTdIdl (packet transfer protocol)
4. % HIZd RIHR MBI (File transfer protocol)

Question Number : 188 Question Id : 9277597688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A scalar quantizer partitions the set R of real numbers into M subsets R1,... , RM, what are these subsets called as
Options :

1. # Quantized files

2. % Quantized records

3. ¥ Quantization regions

4. % Quantized numbers

Question Number : 188 Question Id : 9277597688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%&%ﬁwm (scalar quantizer), IRAfAH TS & =T R BT M SUTHET R1,..., RM B AU HR1 8, 39 SUGH=I! &1 &
0

Options :

1. % SIfd WIS (Quantized files)

2. % wifed Rars (Quantized records)

3. ¢ HIf~cd &7 (Quantization regions)

4. % PIf-cd TS (Quantized numbers)

Question Number : 189 Question Id : 9277597689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average running time of quick sort is in
Options :



1. ¥ O(n log n)
2. % O(log n)
3. % O(n)

4. % O(n/2)

Question Number : 189 Question Id : 9277597689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
mlﬁé(quicksort)wmﬂiﬁﬂm ff@?ﬂ%l
Options :

1. ¥ O(n log n)

2. % O(logn)

3. % O(n)

4. % O(n/2)

Question Number : 190 Question Id : 9277597690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A (rooted) is either empty or a node (the root) with a binary tree as left subtree and binary tree as right subtree
Options :

1. ¥ binary tree

2. % Red-black tree

3. % Btree

4, % B+ tree

Question Number : 190 Question Id : 9277597690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T (F¢S) 7 Y W@l BT § A1 U 1S (F¢) BT 8 ford It &, e Taict 3R a1t &, 33e qad & SU A grar |

Options :

IR ACIERE] 3\0[ (binary tree)



2. % Y&-&I® I (Red-black tree)
3.%B ff (B tree)
4. % B+ Tl (B+ tree)

Question Number : 191 Question Id : 9277597691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why confidentiality is important from the Information Security point?

Options :

1. # Because it is intended to ensure that no unauthorized access to information is not permitted and that accidental disclosure of sensitive
information is possible.

2. # Because it is intended to ensure that unauthorized access to information is permitted and that accidental disclosure of sensitive information
1s not possible.

3. % Because it is intended to ensure that no unauthorized access to information is permitted and that accidental disclosure of sensitive
information is not possible.

4. ® Because it is not intended to ensure that no unauthorized access to information is permitted and that accidental disclosure of sensitive
information is not possible.

Question Number : 191 Question Id : 9277597691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I GRET D1 D Mo 3 Agayuf g2

Options :

1. % i 3BT 35T T8 AN BT ¢ fob Fa1 aab fasait ot sFfergrd uga g1 &t srgufd el § 3iR Tag=iid SHeRt &1
3TH D YH R0 TGHT B |

2. % g%wmwgﬁ@ﬁm%ﬁsm d% 3FRIGd Ugd &1 STAN § 3R YaaA=Nd SHBR! 6T B RIH T dbRul
Tug |

3. ¢ FIh TP I5]T T YT BT 6 [ a1 ad ol 1 sFfIGHd Ugd &1 3HfT 181 § 3R FaeT=id STHBRI BT TH AP
T 1R YHT T8l 3|

4. % T SUBT 36T Tg Y19 DA 161 § b Yo adb (bl o SFfIGHd Ugd Bt SN a1 § 3R Jdg=Id SHBR] BT
THHDB YHIHRU THT g1 5|




Question Number : 192 Question Id : 9277597692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Computer Security Depends on Two Types of Requirements, identify those two requirements.
Options :

1. # Private and Non-Secure

2. ¥ Functional and Assurance

3. % Non functional and Non assurance

4. ¥ Public and Non-secure

Question Number : 192 Question Id : 9277597692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR YR T UHR DI aRgharsdl R AR H ], I &1 I Hhd1ai & U dI |
Options :

1. % f35ft (Private) 3R SRI&T (Non-Secure)

2. ¢ HATHS (Functional) 3R STYT (Assurance)

3. % IR-pRfd®s (Non functional) 3R ﬁ?—\HT%IW (Non assurance)

4. % IS (Public) 3R SRI&T (Non-secure)

Question Number : 193 Question Id : 9277597693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A nondeterministic finite automaton (NFA) is a 5-tuple M = (Q, Z, 9, q, F), where
Options :

1. ¥ Q is a finite set, whose elements are called states

2. % Qs an infinite set, whose elements are called states

3. # Qs a finite set, whose elements are called symbols

4. ® Q is an infinite set, whose elements are called symbols

Question Number : 193 Question Id : 9277597693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T et TR TR (NFA) U6 5-¢Ud M = (Q, 3, 8, g, F) ©, STaT:
Options :

1. ¢ Q U URMd 9= B, o dal &1 Wed Had &

2. % QU IR =g g, o Il &l T Fed &

3. % Q U& URId =g 7, 5% dal & Rigd Had §

4. % QUH URTHT T=g §, o9 dal &1 Rigd Had §

Question Number : 194 Question Id : 9277597694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A is defined as a data processing system in which the time interval required to process and respond to inputs is so small that it controls
the environment

Options :

1. ¥ Real time system
2. # Distributed system
3. # Grid system

4. # Uniprocessing system

Question Number : 194 Question Id : 9277597694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH ®I ST TR Rived & =u & gRuTid fosar Sirdm 8 s $77qe &1 Sifid d3 3R ufdfohan & & e sia=ass a9
SARTA 3011 BieTl 8idT & fF g yaiarur (THarR=He) &l Fifd sar |

Options :

1. ¢ aRAIdP THY YOG (Real time system)

2. % faafkd umelt (Distributed system)

3. % g yomelt (Grid system)

4. ® mm(Uniprocessing system)

Question Number : 195 Question Id : 9277597695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The process of compilation is divided in to how many phases?
Options :

1. #® 02

2. %03

3.9 06

4. % 08

Question Number : 195 Question Id : 9277597695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YH e (HHTSARM) Bt Ufhdr &Y fra aRun § sier a1 82
Options :

1. % 02

2. % 03

3.9 06

4. % 08

Question Number : 196 Question Id : 9277597696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The parser in a compiler needs to try out different rules.
Options :

1. ¥ production

2. # association

3. % translation

4. % preposition

Question Number : 196 Question Id : 9277597696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TH HURR H URR (parser) BT fafdd et & gdierur ot Al gl ]



Options :

1. ¢ IdGH (USHM)
2. % TG (THITRTERA)
3. % 3{dIq (TIaRH)
4. % g (fTgISiRH)

Question Number : 197 Question Id : 9277597697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which type of machine, each processing unit operates on the data independently via independent instruction streams?
Options :

1. % SISD

2. % SIMD

3. ¥ MIMD

4. ¥ MISD

Question Number : 197 Question Id : 9277597697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5T UpR &1 7T H, TS UTHIU1 3HTs Wad e YRISH & A1eqH § W U T ST R B Hal 82
Options :

1. # SISD

2. % SIMD

3. % MIMD

4. ¥ MISD

Question Number : 198 Question Id : 9277597698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many processors are there in Earth Simulator?
Options :



1. #® 512
2.9 5120
3. % 12

4. % 520

Question Number : 198 Question Id : 9277597698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 ﬁmﬁa (Earth Simulator) 7 fhd MR B 82
Options :

1. #® 512

2. ¥ 5120

3.% 12

4. % 520

Question Number : 199 Question Id : 9277597699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The contains instructions, whereas the consists of the execution of those instructions.
Options :

1. # Task, Program

2. ¥ Program, Thread

3. % Thread, Program

4. # Task, Thread

Question Number : 199 Question Id : 9277597699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A w8, sefe 7 39 2 &1 Awre gar B
Options :
1. % TRP, UIH



2. ¢ UM, 98
3. % 98, URIH
4. % TRP, UYS

Question Number : 200 Question Id : 9277597700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When it is essentially an unsigned integer variable, that is, a variable that can take on only nonnegative integer values, then what does it mean?
Options :

1. ¥ Semaphore

2. % Monitor

3. * Program

4. % Process

Question Number : 200 Question Id : 9277597700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

old dg WWQW W&WWW (unsigned integer variable) Eﬁ?ﬂ%, Mﬂh@ﬂ?ﬁﬁ Had 1ﬁTJl*SUIId-IGb W O o 9hd] %,
39T T 31 82
Options :

1.¥ W(Semaphore)
2. % ﬂ'\rﬁa(Monitor)

3. % 1;h";l'l'lzf(Prograrn)

4, ® Eh@ﬂ(Process)




